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TVC(cbch) (0,0,0)

AT 1nuiz14e+04 /25
4139+ 0.0
-34.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,0,4

-1z 3a8e+04 / 25
s, pO 4182+ 0.0
p1 -34.44 % 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 0,8

T i 1yze+u4 [ 25
Tanse, PD 4240+ 0.0
p1 -37.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,0,12

T g, syoe+u4 / 25
= po 4243+ 0.0
pl -36.12+ 0.00
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TVC(cbch) (0,0,1

AT 2z e+u4 [ 25
P po 4145+ 0.0
pl -34.45+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (0 0,5

-1 nu Zgbe+u4d [/ 25
Fomee pO 4185+ 0.0
pl -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (0 0,9

T inuigz41e+04 / 25
- pO 4241% 0.0
pl -35.89 + 0.00

TP delay [ns]

TVC(C, bch) (0,0,13

~ 1 nuis.osve+ud 25
= pO 4256+ 0.0
pl -35.42+ 0.00

TP delay [ns]
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2000

1000
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2000

1000
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2000

1000

TVC(cbch) (0,0,2)

AT 1nuii43e+04 /25
e po 4147+ 0.0
L pl -34.34+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,0,6

F C = 20.99 [ps/ch] ™.

-1 248e+04 | 25
Froe pO 4177+ 0.0
L pl -33.35+ 0.00

3000

50 10‘0
TP delay [ns]

TVC(cbch) (0, 0 10

T nuiL4/9e+U4 [ 25
- po 4264+ 0.0
[ -36.1% 0.0

3000

TP delay [ns]

TVC(cbch) (0,0,14

Trnuig.zize+u4 | 25
= pD 4241+ 0.0
L pl -35.09 + 0.00

3000

TP delay [ns]
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TVC(cbch) (0,0,3

AT 1 nuiL 1sye+ud [ 25
e po 4145+ 0.0
pl -33.71+ 0.00

[ C =29.67 [ps/ch]

L
50 100

TP delay [ns]

TVC(c,b ch) (0 0,7

“nu 2oe+u4 [ 25
Fowee pO 4204+ 0.0
-34.7+ 0.0

[ C =28.82 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (0, O

T uz::e+u4/25
- po 4272+ 0.0
pl -35.62 + 0.00

TP delay [ns]

TVC(C, bch) (0,0,15

T inuigzose+ud [ 25
= 4244+ 0.0
-34.42+ 0.00

[ C =29.06 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



TVC(cbch)(OlO) TVC(cbch)(Oll) TVC(CbCh)(OlZ) TVC(cbch)(013)
A” 1w uuze+ud [ 25 A~ 1L uare+ud | 25 AT i 1ise+ud [ 25 A~ 1L uare+ud | 25

4000 e, PO 4185+ 0.0 4000 - po 4194+ 0.0 4000 __- po 4217+ 0.0 4000 e, po 4217+ 0.0
pl -34.39+ 0.00 pl -35.22+ 0.00 : pl -36.15 i_0.00 pl -36.26 + 0.00

-1 3000

- 3000 1

3000 =1 3000

2000 4 2000 - 2000 B 2000

] 1000 . 1000 - 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (01,4 TVC(cbch) (0,1,5 TVC(cbch) (0,1,6 TVC(cbch) (01,7

Trna Y885 / 25 s Y3yl /25 “nuiL1ule+u4 / 25 - Uble+ud [ 25
4000 fom pO 4210+ 0.0 4000 [, pO 4217+ 0.0 4000 [, pO 4231 0.0 4000 s pO 42341 0.0
Pl 3461+ 0.00 Pl 3467000 [ 854+ 0.0 Pl -34.61% 0.00

3000 - -1 3000 - 3000 : —: 3000 -

2000~ — 2000 - 2000 ' 2000 E

wor C = 28.89 [ps/ch]y,_ ] 1000 7 1ooor ] wor C = 28.89 [ps/ch]™, ]
% i % h—— se i

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,ch)=(0, 1,8) TVC(eboh)=(0,1,9) TVC(eb,oh)=(0, 1, 10) TVC(e.heh)=(0, 1, 11)
1 nuiLYoge+u4 / 25 -1 nuis Yboe+ud / 25 ©nuiLysve+u4 | 25 ~ 1 nuiL ogbe+u4 / 25
4000 4212+ 0.0 4000 o, DO 4228+ 0.0 4000 __- DO 4246+ 0.0 4000 o, pO 4246 £ 0.0
-35.2+ 0.0 pl -34.48 + 0.00 u pl -35.45+ 0.00 pl -35.48 + 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000

2000 ] 2000 E 2000

1000 - 1000

1000 C = 29.00 [ps/ch]

- 1000

1 1
0 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(Oll ) TVC(cbch)(OllB) TVC(cbch)(Oll ) TVC(cbch)(0115)
© i zyse+u4 [ 25 T nai zgbe+ud [ 25 T rnuiLzuse+u4 [ 25 T 1nui zyae+ud [ 25
4000 fm, pO 4265+ 0.0 4000 [, pO 4272+ 0.0 4000 fm, PD 4255+ 0.0 4000 fe pO 4265+ 0.0
pl -37.22+ 0.00 pl -37.94+ 0.00 I pl -36.97 + 0.00 pl -37.08+ 0.00

3000

-1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (0,2,0)

- po

i li4e+ud [ 25
4203 0.0
pl -36.43+ 0.00

TP delay

TVC(cbch) (0.2,4)

ar

pl

[ns]

I wi/25
p0 4186+ 0.0
-35.8+ 0.0

50 10‘0
TP delay

TVC(cbch) (O 2,8

[ns]

L, ryve+u4 | 25
4228+ 0.0
pl -35.79+ 0.00

TP delay

TVC(cbch) (0,212

[ns]

T nuiLsyae+ud [ 25
4246+ 0.0
pl -36.87 + 0.00

TP delay

[ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1)

Yo2 /25
4197+ 0.0
-35.61+ 0.00

A

=, po

pl

TP delay [ns]

TVC(cbch) (0,2,5

nut

Yo56 / 25
4205+ 0.0
-36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

[, pO

pl

T nun. y/ze+ud [ 25
4260+ 0.0
-36.45 + 0.00

TP delay [ns]

TVC(C, bch) (0,213

T inuiaise+ud [ 25
4231+ 0.0
-36.88 + 0.00

TP delay [ns]
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1000
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2000

4000

3000
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1000

1000

TVC(cbch) (0,2,2)

i

- po
pl

1098 /25
4213+ 0.0
-35.95+ 0.00

TP delay [ns]

TVC(cbch) (0,2,6

= 1L 0Yoe+u4 / 25
4203+ 0.0
-36.44 + 0.00

- pO

[ pL

- C = 27.45 [ps/ch .
n s

TP delay [ns]

TVC(cbch) (0, 2 10

- DO

T nuz.4sze+04 | 25
4262+ 0.0
-36.28 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,214

TnuiLa3/e+u4 [ 25
4247+ 0.0
-37.24+ 0.00

TP delay [ns]
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1000

TVC(cbch) (0,2,3)

o=, O

pl

AT rnuiLzuse+ud [ 25
4222+ 0.0
-36.7 £ 0.0

TP delay [ns]

TVC(c,b ch) (0 2,7

RRAITIS

183e+U4 / 25
4230+ 0.0
-37.3+ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (0, 2
fme po

pl

/aue+u4 125
4260+ 0.0
-36.07 + 0.00

TP delay [ns]

TVC(C, bch) (0,215

T nuiase+ud [ 25
4246+ 0.0
-37.07 + 0.00

TP delay [ns]
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2000

1000

4000
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1000
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2000

1000

TVC(cbch) (0,3,0)

A1

Uzse+u4 | 25
4201+ 0.0
-36.27 + 0.00

TP delay [ns]

TVC(e.beh)=(0, 3, 4

Y6/9/25
4189+ 0.0
-34.94 + 0.00

- po
pL
e 4
% i
TP delay [ns]
TVC(cbch) (O 3,8
o pD

T rnuiLyrve+u4 | 25
4223+ 0.0
-34.85+ 0.00

TP delay [ns]

TVC(cbch) (0,312

b po
p1

T i 1yse+u4 / 25
4258+ 0.0
-36.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,1)

AL

= po
pL

urre+ud | 25
4201+ 0.0
-35.11 + 0.00

TP delay [ns]

TVC(c,b ch) (0 3,5

-1 nuiLu41e+u4 / 25
4194+ 0.0
-35.42 + 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

e, po

pl

T nun.b41e+u4 /25
4238+ 0.0
-35.34 + 0.00

TP delay [ns]

TVC(C, bch) (0,3,13

1

e po
p1

vv42 /25
4249+ 0.0
-35.27+ 0.00

TP delay [ns]
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1000

1000

1000

TVC(cbch) (0,3,2)

= po

K™ 1 nuiLuyse+ud / 25
4213+ 0.0
-36.25+ 0.00

pl

TP delay [ns]

TVC(cbch) (0,36

Tz re+04 [ 25
4214+ 0.0
-36.87 + 0.00

- PO

[ o

FC =27.12 [ps/ch .
5(') 100 -

TP delay [ns]

TVC(cbch) (0, 3 10

F= b

T rnuiLyse+u4 [ 25
4248+ 0.0
-35.16 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,3 14

e
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87/ 25
4270+ 0.0
-36.41+ 0.00
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-36.05+ 0.00

TVC(c,b ch) (0 3,7

E pO
pl

1
100

TP delay [ns]

Snun1.73e+04 [ 25
4226+ 0.0
-35.61+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0, 3

RIS Mbe+u4/25
4256+ 0.0
-35.88+ 0.00

TP delay [ns]

TVC(C, bch) (0,3,15

L

= po

Yoz2 /25
4265+ 0.0
-35.41+ 0.00

1
100

TP delay [ns]
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TVC(cbch) (0,4,0

A7 1 nun sove+u4 / 25
.. po 4205+ 0.0
pl -37.13+ 0.00

TP delay [ns]

TVC(cbch) (04,4

- 1L usze+ud / 25
= pO 4201% 0.0
pl -36.52:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

T rnuiL41pe+04 / 25
- pO 4221+ 0.0
pl -35.04 + 0.00

TP delay [ns]
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T rnuiLzise+u4 / 25
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AT 1 nuiLzuve+ud [ 25
P, po 4186+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

= rnui 13be+ud / 25
== po 4203+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,9

T, 711e+u4 / 25
- po 4236+ 0.0
pl -35.12 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,13

T inaiL 1ose+ud [ 25
- pO 4237+ 0.0
p1 -36.5+ 0.0
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-1 bz4e+04 [ 25
pO 4224+ 0.0
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- pO 4219+ 0.0
pl -37.27 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 4

SEATTIE JE+U4/25
- po 4266+ 0.0
pl -36.26 + 0.00
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TVC(C, bch) (0,4,15

T inuisr0e+ud [ 25
- pO 4237+ 0.0
p1 -37.56 + 0.00

TP delay [ns]
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TVC(c,b,ch)=(0, 5, 4)
- T X 1199/25
== pO 4191+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0,5, 8

= 1o,

.br3e+u4 /25
4182+ 0.0
-34.55+ 0.00

TP delay [ns]

-1 nuy,
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AT 1 nuLB1oe+ud [ 25
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-37.68+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 5,

5

nut

9110/ 25
4181+ 0.0
-36.23 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0,5,9

T inup.131e+U4 / 25
4202+ 0.0
-35.5+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 5

, 13

T inui1sae+ud [ 25
4201+ 0.0
-34.68 + 0.00

TP delay [ns]
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4183+ 0.0
-36.85+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 5,
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6

i

Y1U5/25
4192+ 0.0
-36.04 + 0.00

TVC(c,b,ch)=(0, 5

50

1
100

TP delay [ns]

- C = 28.33 [ps/ch

, 10

T /7 (e+U4 [ 25

4224+ 0.0
-35.3+ 0.0
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50
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100

TP delay [ns]
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-35.64 + 0.00
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- 1nui Urbe+u4 / 25

4203+ 0.0
-33.9+ 0.0

[ C =29.50 [ps/ch]

1
100
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TVC(c,b,ch)=( 0, 5, 11)
. X~ nuiLbZ3e+u4 / 25
po 4218+ 0.0
p1 -34.79 + 0.00

1
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TP delay [ns]

TVC(c,b,ch)=(0, 5

Tnuiz1se+ud [ 25
4204+ 0.0
-35.2+ 0.0
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TVC(c,b,ch)=(0, 6,0
T Ao

u* 1e+04/25
- po 4206+ 0.0
pL -36.57 + 0.00
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50 100

TP delay [ns]

TVC(c,b,ch)=(0, 6, 4

- 1L Op3e+ud / 25
po 4195+ 0.0
p1 -36.46+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 6, 8

T rnuzzole+u4 | 25
po 4213+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 6, 12

T Ly e+u4 /25
po 4223+ 0.0
pl -35.02+ 0.00
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. po 4198+ 0.0
pL -36.01+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 6,5

=1 Ui Qube+u4 / 25
po 4179+ 0.0
pL -35.32:+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 6,9

T naiy 3g3e+u4 / 25
po 4228+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 6, 13

TinaiLus/e+ud [ 25
po 4216+ 0.0
p1 352+ 0.0

TP delay [ns]
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T X

S 7 w1a7/25
po 4202+ 0.0
p1 -35.73 0.00

- C =27.99 [ps/ch .
1 1 -
50 100
TP delay [ns]
TVC(c,b,ch)=(0, 6, 6)
_ T XT 1 i Obye+ud / 25
= po 4197+ 0.0
: pl -35.93+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 6, 10

TrnugUse+ud [ 25
po 4252+ 0.0
pl -37.23+ 0.00

1
50 100

TP delay [ns]

14

TVC(c,b,ch)=( 0, 6,

Sruae T ysy3 /25
po 4220+ 0.0
pl -35.89 + 0.00

TP delay [ns]
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TVC(c,b,ch)=(0, 6, 3)
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S 79199725
po 4219+ 0.0
pL -36.35+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 6,7

=1 nui Uvbe+u4 / 25
po 4194+ 0.0
p1 -34.98+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 6, 11

~ 1 nuiz.ause+ud 25
pO 4266+ 0.0
p1 -37.57 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 6, 15

~ 1 nuiusye+ud / 25
po 4222+ 0.0
p1 -35.62+ 0.00

P IR S S
50 100

TP delay [ns]



TVC(c,b,ch)=(0, 7,0) TVC(c,b ch) (0,7,1) TVC(c,b ch) (0,7,2) TVC(c,b ch) (0,7,3)
AT yy12/25 A~ 1w uaze+ud | 25 AT 1L ugze+ud [ 25 A~ 1w uye+ud 25
4000 ' PO 4202+ 0.0 4000 _- po 4212+ 0.0 4000 _. po 4235+ 0.0 4000 foun, po 4232+ 0.0
-37.51+ 0.00 pl -37.8+ 0.0 : pl -38.08 i_0.00 pl -37.14+ 0.00

3000

E 3000 [ - 3000 - 3000 E

2000 1 2000 - -1 2000~ -1 2000

1 wol- C = 26.45 [ps/c .

1000 —_ 1000 -
0 = o = 0 & oo of = o 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (07,4 TVC(cbch) (0.7, TVC(cbch) (0,7,6 TVC(c, bch) (0.7,

“ g l?tsleﬂ]d 125 “nar Z)USE+U4/25 “ g J)bbe+U4 125 S L)JJE+U4/25
4000 4221% 0.0 4000 e, pO 4225+ 0.0 4000, pO 42251+ 0.0 4000 e, pO 4220+ 0.0
35,5+ 0.0 pl_ -36.18+ 0.00 3 Pl -3542% 0.00 pl -34.81+ 0.00

2000 ] 3000 = 3000 ] 3000 b

2000 -] 2000 b 2000 ] 2000 B

] 1000 E [ ]
1000 oo C = 28.23 [ps/ch ] wool- C = 28.73 [ps/ch 7
1 1 b 1 1 bl 1 b
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (O 7,8 TVC(cbch) (0 7,9 TVC(cbch) (0, 7 10 TVC(cbch) (0, 7

© 1 nuiLysye+ud / 25 T g goze+u4 [ 25 © 1 nuzouye+u4 / 25 T aa::e+u4/25
4000 e, pO 4235+ 0.0 4000 o, pO 4243+ 0.0 4000 o, DO 4258+ 0.0 4000 4260+ 0.0
Pl 3672:000 Pl 3681+ 000 b PL_ 3626+ 0.00 -37.14 00

3000

- 3000 -1 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 e 1000 — 1000 E 1000

0

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (0,7,12 TVC(C, bch) (0,7,13 TVC(cbch) (0,7,14 TVC(C, bch) (07,15

T nuiLzu4e+u4 /25 T z/4e+04 1 25 T nuiL 155e+U4 / 25 Ty 2se+u4 [ 25
4000 4222+ 0.0 4000 p, pO 4239+ 0.0 4000 PD 4239+ 0.0 4000 e, pO 4251+ 0.0
-34.61+ 0.00 Pl -36.62+ 0.00 L Pl -35.87+0.00 Pl -36.24+ 0.00

- 3000

3000 N 3000 -1 3000 -1

2000 — 2000 T 2000[ b 2000

1000 1000

N 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,0

K™ 1nuiLus/e+ud /25
., po 4216+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(cbch) (08,4

S 7 y1s8/25
pO 4218+ 0.0
pl -35.07:+ 0.00

0

TP delay [ns]
TVC(cbch) (0.88) _
Trnuzzse+U4 5
- po 4239:‘
pl -36.55+ 0.00
TP delay [ns]
TVC(c,b ch) (0o, 8 12

T i sEoe+u4 / 25
pO 4256+ 0.0
p1 -37.2+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

AT 1 nunuse+ud [ 25
P, po 4200+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

=1 i Usbe+u4 / 25
- pO 4212+ 0.0
p1 -34.49 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,9

-1 nu.Ugae+ud 25
- pO 4254+ 0.0
pl -36.02 + 0.00

TP delay [ns]

TVC(C, bch) (0,8,13

T nui zsoe+ud 25
= pO 4266+ 0.0
pl -37.18 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

0

1000

TVC(cbch) (0,8,2)

S vr16/25
-, pO 4213+ 0.0
L pl -35.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,86

- P°

11 314e+04 [ 25

pl -35.79 + 0.00

4235+ 0.0

TP delay [ns]

TVC(cbch) (0, 8 10

1 nuiz, (28e+04 | 25

__ DO 4282+ 0.0
- pl -37.14 + 0.00

TP delay [ns]

TVC(cbch) (0,814

1 nui s41e+04 / 25

-, pD 4264+ 0.0
L p1 -37.57+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3)

po 4232+ 0.0
pl -36.26 + 0.00

AT 1L usse+u4 [ 25

TP delay [ns]

TVC(c,b ch) (0 8,7

pO 4240+ 0.0
p1 -35.64 + 0.00

-1 nui 384e+04 / 25

TP delay [ns]

TVC(c,b ch) (0, 8

e pO 4275 0.0
pL -36.87+ 0.00

i bue+u4/25

TP delay [ns]

TVC(C, bch) (0,815

e po 4256+ 0.0
p1 -36.59 + 0.00

1 nuiL suze+ud | 25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0)

X rnu ooad /25
= PO 4184:00
pl _ -357%0.0

TP delay [ns]

TVC(cbch) (0,9,4

= 1 nurLuye+ud / 25
- pO 4182+ 0.0
pl -35.53+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 9,8

T L foze+u4 [ 25
po 4216+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

T ssse+u4 / 25
= po 4221+ 0.0
pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1

AT 1 nuLuyse+ud /25
peee,, po 4179+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

-1 nui 194e+04 / 25
4199+ 0.0
-35.4 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 9,9

Tinuar 5pe+u4 /25
= po 4212+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(C, bch) (0,9,13

T nai104e+u4 / 25
= pO 4198+ 0.0
pl -34.54 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,2)

AT 1nui izse+04 /25
- po 4200+ 0.0
L p1 -36.34+ 0.00

TP delay [ns]

TVC(cbch) (0,9,6

- rnuiL1yze+u4 [ 25
- pO 4199+ 0.0
3 pl -35.79 0.00

TP delay [ns]

TVC(cbch) (0, 9 10

T rnuzzole+u4 [ 25
= po 4248+ 0.0
L pl -36.03+ 0.00

TP delay [ns]

TVC(cbch) (0,9,14

T 1y1e+u4 /25
- pD 4209+ 0.0
L pl -34.24.+ 0.00

- C = 29.20 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3

AT rnuiLusze+ud [ 25
- po 4201+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

- nui43/e+04 / 25
e, pO 4216+ 0.0
pL -36.76+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 9

T 4we+u4/25
- pO 4247+ 0.0
p1 -36.73+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

T nuiL 1boe+ud / 25
e pO 4224+ 0.0
p1 35+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 10, 0)

[ C =29.20 [ps/ch]

T LAl Y303 /25
™, po 4209+ 0.0
pl -34.25+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,104

T i 1.73e+04 /25
e, pO 4226+ 0.0
pl -36.65 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 10 8

1L Zobe+u4 | 25
- PD 4215+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (0,10, 12

TinuiLgr9e+u4 [ 25
- PO 4260+ 0.0
pl -36.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,10,1)

A~ 1 Ui ubae+u4 [ 25
[, po 4206+ 0.0
pl -34.41+ 0.00

TP delay [ns]

TVC(c, bch) (0,10,5

=1 nuiL403e+04 / 25
- pO 4234+ 0.0
pL -37.38 0.00

TP delay [ns]

TVC(c,b ch) (0, 10

~ 1 nuig 1z28e+u4 / 25
- DO 4233+ 0.0
pl -36.62 + 0.00

TP delay [ns]

TVC(cbch) (010,13

T 4u3e+u4 [ 25
= po 4254+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,10,2)

X~ isre+U4 /25
™= po 4215+ 0.0
[ pl -34.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (0.10,6

1000

T Ui 334e+04 [ 25
- pO 4236+ 0.0
H PL_ -36.82% 0.00

TP delay [ns]

TVC(cbch) (0, 10 10

1000

0

“nu18e+u4 /25
- DO 4254+ 0.0
F pl -36.72 + 0.00

TP delay [ns]

TVC(cbch) (0.10,14

1000

~ i sose+ud / 25
- PD 4262+ 0.0
I pl -36.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,10, 3)

S 7 yys7/25
- PO 4230+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(c, bch) (0,10,7

- i 452e+04 / 25
F= PO 4259+ 0.0
-37.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (o, 10 1

T 1 34e+04 / 25
= p0 4250+ 0.0
pL -35.21+ 0.00

TP delay [ns]

TVC(cbch) (0,10,15

T 3a1e+04 /25
- PO 4257+ 0.0
pl -37.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 11,0)
T Ao

4158+ 0.0

o 8946 /25
-34.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,11,4

wu 1991/25
b, po 4165+ 0.0
pl -34.14 + 0.00

TP delay [ns]

TVC(cbch) (0, 11 8

T L8 e+U4 [ 25
= po 4188+ 0.0
p1 -34.8+ 0.0

TP delay [ns]

TVC(cbch) (011,12

TrnuiLzrse+u4 /25
- po 4213+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0, 11 1)

S Cyv8 /25
= pO 4161+ 0.0
pl -35.27+ 0.00

TP delay [ns]

TVC(cbch) (0,11,5

-1 nuiuzze+u4 [ 25
e, pO 4191% 0.0
p1 -34.94 + 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(0, 11, 9

~ 1 nu bgae+u4 25
= po 4210+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (0,11,13

Tinaiizie+ud /25
== pO 4206+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (o, 11 2)

w 9383/ 25
= pO 4175+ 0.0
- pl -35.18+ 0.00

TP delay [ns]

TVC(cbch) (0,11,6

11urL.u34e+04 [ 25

- pO 4213+ 0.0
3 pl -36.05 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 10

— X~ 1L y4e+04 [ 25
bese, po 4198+ 0.0
o pl -34.38+ 0.00

TP delay [ns]

TVC(cbch) (0,11, 14

X1 gule+ud [ 25
pee. po 4218+ 0.0
L p1 -36.16+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

- X rnur vau? /25
E PO 4185:00
pl -35.1% 0.0

TP delay [ns]

TVC(cbch) (0,11,7

-1 nui uZbe+u4 / 25
- pO 4197 0.0
p1 -34.28+ 0.00

TP delay [ns]

TVC(e.b.eh=(0, 11, 11

- T 1nuiLa43e+04 / 25
= pO 4215+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (0,11,15)

fuan 1Ze+ud [ 25
- pO 4211 0.0
-34.91+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 12 0)

T rnuiLuaze+u4 [ 25
.. pO 4209+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (0,124

T rnuiLzl/e+u4 [ 25
pO 4218+ 0.0
pl -37.88:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 12 8

T L, r30e+U4 / 25
= po 4205+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (0,12, 12

T ssze+u4 [ 25
= po 4220+ 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0, 12 1)

S yosl/ 25
= pO 4217+ 0.0
pl -37.75+ 0.00

TP delay [ns]

TVC(cbch) (0,125

- nun 18ze+04 / 25
e pO 4209+ 0.0
pL -37.32:+ 0.00

TP delay [ns]

TVCEbeh)=(0, 12,9

-1 nu.ybse+ud / 25
= po 4225+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (012,13

-1 nuiLquae+ud [ 25
- pO 4222+ 0.0
p1 -36.23+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

4000

2000

1000

TVC(CbCh) (0,12,2)

K™ 1 nui vose+u4 / 25
_- po 4214+ 0.0
L pl -36.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

-1 nuizzge+u4 [ 25
- pO 4214 0.0
[ pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

Tz zole+ud | 25
. po 4239+ 0.0
- pl -36.51+ 0.00

3000

1000

0

TP delay [ns]

TVC(cbch) (0.12,14

T goze+u4 [ 25
- pD 4229+ 0.0
[ p1 -35.85+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

AT rnuiL1re+ud [ 25
- po 4238+ 0.0
pl 37+ 0.0

TP delay [ns]

TVC(c, bch) (0,12,7

-1 nur 3b3e+u4 / 25
- pO 4241+ 0.0
pL -37.31% 0.00

50 100
TP delay [ns]

TVC(eh.eh)=(0, 12, 11

-1 nuiL pboe+ud / 25
= po 4250+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (0,12,15

T nui syve+ud / 25
- po 4229+ 0.0
p1 -36.35+ 0.00

TP delay [ns]



TVC(eb.eh)=(0,13,0)

4000

3000

2000

1000

-1 ploe+ud [ 25
pO 4216+ 0.0
p1 -36.05+ 0.00

TP delay [ns]

TVC(cbch) (0,13, 4

4000

3000

2000

1000

~ i r1be+u4 / 25
- pO 4236+ 0.0
p1 -37.12:+ 0.00

EN) 10‘0
TP delay [ns]

TVC(e.b.eh)=(0, 13, 8

w00
t ]
it ]
b C = 28.94 [ps/ch] ™, 7

™

- 1 nuis.u8be+U4 [ 25
- pD 4262+ 0.0
-34.55+ 0.00

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(ebc=(0,13,1)

A~ 1 Uil bove+ud [ 25
- PO 4215+ 0.0
pL -36.98+ 0.00

TP delay [ns]

TVC(C, bch) (0,135

=1 nuiL401e+04 / 25
- pO 4239+ 0.0
pL -37.16+ 0.00

TP delay [ns]

TVC(e.b.eh)=(0, 13, 9

-1 nun bose+ud [ 25
- pO 4285+ 0.0
p1 34,58+ 0.00

1000 C = 28.92 [pS/Ch]

1
50 100

TP delay [ns]

TVC(e,b.ch)=(0, 13, 12

4000

TP delay [ns]

TVC(e.b.ch)=(0,13, 13

- g, mzem /25
2000 & P° 4251% 0.0
3457+ 0,00
3000 ]
2000 ]
00 C = 28.92 [pS/Ch] ]
-
-
-
NI T
=L 00

TP delay

[ns]

- 1nuzsz9e+ud [ 25
E pO 4252+ 0.0
p1 -35.9 £ 0.0

3000

2000

1000

TP delay

[ns]

TVC(eb.chy=(0,13,2)

4000

2000

1000

A~ 1 nui, Ose+ud /25
B po 4221% 0.0
i p1 -35.63 0.00

3000

TP delay [ns]

TVC(cbch) (0,136

4000

3000

2000

1000

- i, r54e+04 [ 25
k- pO 4260+ 0.0
i p1 -37.35+ 0.00

TP delay [ns]

TVC(e.b.eh)=(0, 13, 10

- g, 132e+04/25

4000 - po 4304+ 0.0

_ p1 -34.85+ 0.00
3000~ ]
2000 -— _-
w0F C = 28.70 [ps/ch] ™, 1]

- -

-
| 1
5 50 100

TP delay [ns]

TVC(e,b.eh)=(0, 13, 14

4000

3000
2000

1000

S 2.33e+04 /25
- pD 4250+ 0.0
i p1 -35.18+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(ebch)=(0,13,3)

A1 nuiLyloe+ud [ 25
- pO 42391 0.0
p1 -37.31+ 0.00

TP delay [ns]

TVC(C, bch) (0,13, 7

-1 nui bble+ud / 25
L pO 4252+ 0.0
p1 -36.67+ 0.00

50 1(;0
TP delay [ns]

TVC(cbeh)=(0, 13, 1)

1 nuig bade+ud | 25
- po 4303+ 0.0
pl -35.84+ 0.00

TP delay [ns]

TVC(e.b.ch)=(0, 13, 15

- 1nuzosze+ud | 25
- po 4269+ 0.0
p1 -36.69 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 14, 0)

e, po

xmw uus9725
4182+ 0.0
p1 -36.57:+ 0.00

TP delay

TVC(cbch) (0,144

[ns]

- i 1obe+u4 / 25
4203+ 0.0
-34.79 + 0.00

pee-. pO
pl
FC 4
| , =
50 100
TP delay [ns]
TVC(c,b, ch) (0, 14 8)
- g 114e+u4 / 25
= pD 4203+ 0.0
pl -35.51+ 0.00

TP delay

TVC(cbch) (0,14,12

e, po
p1

[ns]

TrnuiLzire+u4 /25
4223+ 0.0
-36.1+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,14,1)

e, po

AT rnuLusie+ud /25
4196+ 0.0
-35.9 + 0.0

p1

TP delay [ns]

TVC(c, bch) (0,145

-1 nuiugle+ud / 25
4207+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 14,9

==, po

~ 1 nu.u3sse+u4 / 25
4219+ 0.0
pl -36.18 + 0.00

TP delay

TVC(cbch) (0.14,13

- pO
p1

[ns]

Tinaize+ud [ 25
4226+ 0.0
-36.5+ 0.0

TP delay

[ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(CbCh) (0,14,2)

= po

AT 1nuiLuzie+u4 /25
4201+ 0.0
-36+ 0.0

pl

TP delay

TVC(cbch) (0.14,6

pO
p1

[ns]

S rnun1.09e+u4 [ 25
4206+ 0.0
-34.16 + 0.00

- C = 29.28 [ps/ch]

50 10‘0
TP delay

TVC(cbch) (0, 14 10

= 90

[ns]

1 nuiLyoye+u4 | 25
4232+ 0.0
pl -36.12+ 0.00

TP delay

TVC(cbch) (0.14,14

- PD

[ns]

T 1L syse+ud | 25
4240+ 0.0
pl -37.27+ 0.00

TP delay

[ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

o po

AT rnuiLuzye+ud [ 25
4198+ 0.0
pl -35.33+ 0.00

TP delay

TVC(c, bch) (0,14,7

[ns]

- 1nun 343e+04 / 25
4207+ 0.0
-34.7+ 0.0

TP delay

TVC(ehch)=(0, 14, 11

e pO

[ns]

T nuiayle+ud [ 25
4231+ 0.0
p1 -36.21+ 0.00

TP delay

TVC(cbch) (0,14,15

e, po

[ns]

<1 nuiLquoe+ud [ 25
4245+ 0.0
p1 -37.47 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 15,0)

T LAl 516/ 25
[, po 4195+ 0.0
pl -33.75+ 0.00

[ C =29.63 [ps/ch]

| 1
50 100

TP delay [ns]

TVC(cbch) (0,154

- rnuLu3le+ud / 25

- pO 4210+ 0.0
Pl 3614+ 000

50 10‘0
TP delay [ns]

TVC(cbch) (0, 15 8

1 nuiL bbse+ud / 25

- pO 4219+ 0.0
Pl -35.431 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

1 nuiLurve+ud [ 25

- pO 4230 0.0
pl -35.01+ 0.00

TP delay [ns]

TVC(cbch) (0,15,1)

S wouB /25
4000 fee,, pO 4194+ 0.0
Pl -33.22%0.00

3000 -
2000 - -
w00 C = 30.11 [ps/ch] -]

TP delay [ns]

TVC(cbch) (0,155

4000 o

3000

2000

1000

- nui 105e+04 / 25
pO 4212+ 0.0
p1 -36.43+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

3000

2000

1000

T, 124e+04 [ 25
4000 frn pO 4257+ 00
Pl -35.52%0.00

TP delay [ns]

TVC(cbch) (0.15,13

4000 e

3000 -

2000

1000 |~

~ 1 nuiLyyve+ud / 25
PO 4220+ 0.0
-34.85+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,15,2)

TP delay [ns]

TVC(cbch) (0.15,6

- UL 179e+04/ 25
- pO 4218+ 0.0
I pl -36.56 + 0.00

X~ 1L usre+U4 /25
-, po 4217+ 0.0
F pl -35.45+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 15 10

T zuge+ud [ 25
- DO 4276+ 0.0
I pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (0,15, 14

Srua o le+04/25
- pD 4218+ 0.0
I pl -34.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,15,3)

S yoa8 /25
PO 4212+ 0.0
pl -35.01+ 0.00

TP delay [ns]

TVC(c, bch) (0,157

-1 nur 3bye+u4 / 25
= PO 42341 0.0
pL -36.72.+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

[ C =28.93 [ps/ch]

<1 nui sbve+ud / 25
pO 4253+ 0.0
pl -34.56 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,15,15

e, pO

Sona o ys29/25
4227+ 0.0
pl -35.06 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0)

A~ ziie+ud [ 25
P, po 4182+ 0.0
pl -36.33+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (10,4

- i 18 7e+04 / 25
™, pO 4165+ 0.0
pl -36.09 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

T rnuiLb34e+04 / 25
= po 4188+ 0.0
p1 -34.49 + 0.00

TP delay [ns]

TVC(cbch) (1,0,12

T i zsve+ud | 25
= po 4201+ 0.0
pl -35.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,01

AT 1L ssoe+ud [ 25
- po 4185+ 0.0
p1 -36.94+ 0.00

TP delay [ns]

TVC(c,b ch) (1, O

“nui Zge+u4 [ 25
pO 4173+ 0.0
pL -35.56+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

-1 nug. yyve+ud / 25
po 4210+ 0.0
p1 -34,69 £ 0.00

TP delay [ns]

TVC(C, bch) (1,0,13

TinuiLasie+ud [ 25
pO 4200+ 0.0
pl -36.07 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (1,0,2)

A~ 1 nui zole+u4 /25
i po 4179+ 0.0
[ p1 -35.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

- rnui3z9e+04 [ 25
-, pO 4184 0.0
3 pl -35.56 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 0 10

Tz zyze+u4 | 25
= po 4228+ 0.0
L pl -34.9+ 0.0

3000

TP delay [ns]

TVC(cbch) (1,0,14

~ 1L poye+u4 / 25
4214+ 0.0
-37.4+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

AT 1 nuiLsoye+ud [ 25
- po 4202+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

- nun bzve+u4 [ 25
e, pO 4194+ 0.0
p1 -36.42:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

Sy ::ze+u4/25
4236+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(C, bch) (1,0,15

TinuiLay/e+ud [ 25
- pO 4207+ 0.0
p1 -36.55+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1, 1,0)

T AT vy15/25
= po 4175+ 0.0
pl -36.23+ 0.00

TP delay [ns]

TVC(cbch) (11,4

=i 1 rge+04 | 25
= pO 4175+ 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(eboh)=(1, 1,8

T L zzoe+u4 | 25
- pO 4194+ 0.0
pl -34.69 + 0.00

TP delay [ns]

TVC(cbch) (1,1,12

T L zzoe+u4 | 25
= po 42114 0.0
pl -36.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1)

AT 1 nuiLlize+ud [ 25
Fee,, po 4196+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

-1 nui 2y3e+u4 [ 25
o pO 4193+ 0.0
pL -36.18+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

T inug, r11e+ud [ 25
[, 4219+ 0.0
-34.39 + 0.00

[ C =29.08 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

Tinais41e+u4 /25
== pO 4203+ 0.0
pl -36.85+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (1,1,2)

TP delay [ns]

TVC(cbch) (11,6

AT inuiizie+04 /25
__- po 4195+ 0.0
o pl -35.38+ 0.00

3000

-1 nuiL394e+04 [ 25
- pO 4202+ 0.0
[ pl -36.06 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 1, 10

© 1 nuiLplye+ud / 25
-, po 4227+ 0.0
- pl -34.49 + 0.00

- C = 29.00 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,1,14

T nuiL4ze+u4 [ 25
= pD 4213+ 0.0
+ pl -36.89 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3)

K ys/9/25
Eee.. po 4203+ 0.0
pL -35.04 £ 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

-1 nui 2uge+u4 / 25
- pO 4202+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
T nuiL1g/e+u4 /25
- po 4229+ 0.0
pl -35.12+ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

Tinaizo/e+u4 /25
- pO 4204+ 0.0
p1 -35.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0

K™ 1nuiLuzie+u4 /25
. po 4195+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (1,24

-1 414e+04 ] 25
e, pO 4213+ 0.0
pl -35.93 + 0.00

50 10‘0
TP delay [ns]

TVC(ebch)=(1,2,8

Tz 34/e+04 [ 25
= po 4197+ 0.0
pl -35.01+ 0.00

TP delay [ns]

TVC(cbch) (1,212

~rnuiLyoze+u4 / 25
= po 4240+ 0.0
pl -36.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

AT rmuani/ie+ud /25
., po 4195+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-1 nui b34e+04 / 25
pO 4231% 0.0
p1 -35.84 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 2

T nu.p/be+u4 [/ 25
po 4219+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(C, bch) (1,213

T nai 1ioe+ud [ 25
pO 4238+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,2,2)

T Luse+ud /25
pO 4209+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (1,26

S rnu15/e+04 /25
po 4240+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

1000

©1nuz 1e5e+04 / 25
po 4228+ 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (1,2 14

1000

© i zoge+ud | 25
pD 4239+ 0.0
pl -36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3)

ST w006/ 25
e, pO 4202 0.0
pL -34.72.+ 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

- nui /ble+u4 / 25
- pO 4236+ 0.0
-35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 2

T 491e+u4/25
= pO 4250+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(C, bch) (1,215

T nuizose+ud [ 25
e pO 4234+ 0.0
p1 -36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0

A7 1 nui4uoe+ud /25
.. po 4206+ 0.0
pl -37.26+ 0.00

TP delay [ns]

TVC(cbch) (1,34

-1 194e+04 / 25
[, PO 4200+ 0.0
pl -37.23+ 0.00

TP delay [ns]

TVC(cbch) (1 3,8

T i gzze+04 | 25
- po 4230+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (1,3 12

T i 1sve+u4 / 25
- po 4194+ 0.0
pl -33.46 + 0.00

[ C =29.89 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,31

AT rnun1yse+ud [ 25
o=, po 4206+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 3

=1 nui 3ype+u4 / 25
F 4231+ 0.0
-38.5+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1 3,9

T nuigzsse+ud [ 25
- pO 4248+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(C, bch) (1,3,13

Tinaizrse+ud [ 25
feee. 4195+ 0.0
-33.57+ 0.00

[ C=29.79 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

TP delay [ns]

TVC(cbch) (1,36

AT 1nun s43e+04 /25
_- po 4210+ 0.0
o pl -36.18+ 0.00

3000

T i rzze+04 [ 25
3 pO 4232+ 0.0
[ pl -38.34 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

1L buze+u4 [ 25
. po 4270+ 0.0
- pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (1,3 14

Sruae 7 52125
F--. pD 4190+ 0.0
L p1 -33.47 £ 0.00

- C = 29.88 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3

AT L ssse+ud [ 25
= po 4224+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

“rnan 152e404 [ 25
- pO 4236+ 0.0
pL -37.95+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 3

T 5/1e+u4/25
- po 4253+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(C, bch) (1,315

T nui szye+ud [ 25
= pO 4199+ 0.0
-34.15+ 0.00

[ C =29.28 [ps/ch]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0)

T gsze+ud /25
F o pO 4220+ 0.0
p1 -38.42+ 0.00

TP delay [ns]

TVC(cbch) (14,4

S rnuanLQuse+ud / 25

= pO 4202+ 0.0
pl -35.07:+ 0.00

50 10‘0
TP delay [ns]

TVC(ebioh)=(1, 4,8

- nuz 115e+04 | 25
- pD 4242+ 0.0
pl -36.69+ 0.00

TP delay [ns]

TVC(cbch) (1,4,12

T rse+u4 / 25
= po 4208+ 0.0
pl -35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1

AT 1L ssze+ud [ 25
F po 4224+ 0.0
pl -38.97 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

=1 nui Z54e+04 | 25
== po 4217+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

Tanan g/ e+u4 |25
- po 4269+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,13

Tinaiz41e+04 /25
- pO 4217+ 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,4,2)

F - PO

K™ 1nuiziye+u4 /25

pl -38.12+ 0.00

4227+ 0.0

TP delay [ns]

TVC(cbch) (1,4,6

1 nuiL z44e+04 | 25

- pO 4221 0.0
[ pl -36.56 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

©1nuz14pe+04 / 25
- DO 4290+ 0.0
L pl -37.47 + 0.00

TP delay [ns]

TVC(cbch) (1,4,14

T zile+ud /25
- pD 4220+ 0.0
L p1 -35.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

AT rnuiLzsie+ud [ 25
=, po 4229+ 0.0
pl -37.77+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

= 1nuiLay/e+ud | 25
= po 4228+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

1)
T nuisole+u4 /25
- po 4277+ 0.0
p1 -36.44 + 0,00

TP delay [ns]

TVC(C, bch) (1,4,15

T nuiazoe+ud [ 25
= pO 4212+ 0.0
p1 -36.25+ 0.00

TP delay [ns]



TVC(cbch)(lSO) TVC(cbch)(lSl) TVC(cbch)(152) TVC(cbch)(153)
K™ 1nuitore+ud /25 AT rnunlule+ud /25 A7 1 nun sose+u4 / 25 AT 1L seoe+ud [ 25
4000 Foeee PO 4191+ 0.0 4000 [Fonee po 4196+ 0.0 4000 _=— po 4201+ 0.0 4000 - po 4210+ 0.0
pl -35.73+ 0.00 pl -35.52+ 0.00 r pl -35.76 + 0.00 pl -35.17 + 0.00

3000

1 3000 =1 3000 -1 3000 - -1

2000 - 2000 - 2000 =1 2000 -

1000 E 1000 - 1000

] woo- C = 28.43 [ps/ch

L
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,54 TVC(cbch) (15, TVC(cbch) (1,56 TVC(c, bch) (15,

LIS A)ltseﬂjd 125 S i)lye+04/25 “ g 2U<e+u4 125 T nar z)b4e+l)4/25
4000 pO 4224+ 0.0 4000 pO 4225+ 0.0 4000 e, pO 4242+ 0.0 4000 s pO 42431 0.0
pl -36.07:+ 0.00 pL -36.16+ 0.00 3 pl -36.81+ 0.00 pL -35.65+ 0.00

3000 [ E 3000 E 3000~ ] 3000 B

2000 - E 2000 - 2000~ ] 2000 [ -

1000 C = E [ ]

1000~ C E 1000 — rC=27.16 [pS/Ch ] 1000 C = 28.05 [pS/Ch
I L5 oL I L = I =
50 00 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (1, 5 8) TVC(c,b Ch) (1, 5 ) TVC(c,b, Ch) (1, 5 10) TVC(c,b Ch) (1, 5 1)
© 1 nuiLsgoe+u4 / 25 - 11U, bobe+u4 / 25 T nu sz3e+u4 [ 25 - ruiz.usye+u4 [ 25
4000 e, pO 4235+ 0.0 4000 e, pO 4260+ 0.0 4000 [, DO 42745 00 4000 fam, p0 4281% 0.0
Pl -36.46% 0.00 -36.3+ 0.0 [ PL_ -37.04%0.00 -37 0.0

3000

-1 3000 - 3000 -1 3000

2000 -1 2000 - 2000 -1 2000

1000 E 1000 - 1000 E 1000

1 1 0

0 50 100

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(lSl ) TVC(cbch)(1513) TVC(cbch)(151 ) TVC(cbch)(1515)
T rnuizuzie+u4 /25 T nuiz 10se+ud / 25 1z zose+u4 | 25 T nui p3se+ud [ 25
4000 f pO 4252+ 0.0 4000 e, pO 4248+ 0.0 4000 f, PD 4246+ 0.0 4000 fi, pO 4256 0.0
pl -36.04 + 0.00 pl -35.9+ 0.0 + pl -35.62+ 0.00 pl -35.7 % 0.0

3000

7 3000 _ 3000 - 3000 .

2000 B 2000 — 2000 - 2000

1000 -1 1000 -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(lGO) TVC(cbch)(lGl) TVC(cbch)(162) TVC(cbch)(163)
AT i zsse+ud [ 25 A” 1w 3uye+ud | 25 A” 1L 4p4e+04 [ 25 A~ 1L usoe+ud / 25
4000 - PO 4193+ 0.0 4000 - po 4197+ 0.0 4000 __- po 4205+ 0.0 4000 [ po 4212+ 0.0
pl -37.2+ 0.0 pl -36.74 % 0.00 : pl -37.55+ 0.00 pl -35.99+ 0.00

3000 - -1 3000

-1 3000 -1 3000

2000~ 1 2000 = 2000 -1 2000

=1 1000

1000 C = 26.88 [pS/C - 1000 ] 1000 E
0 £ oo - 0 of 50 0%
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (1,6.4) TVC(cbch) (165) TVC(cbch) (166) TVC(cbch) (16,7)
- rnunL1z9e+04 / 25 -1 nui 1bse+u4 / 25 = nur 1bpe+04 / 25 - nui1u/e+u4 / 25
4000 [, pO 4220+ 0.0 4000 pO 4218+ 0.0 4000 (e, pO 4220+ 0.0 4000 4220+ 0.0
pl -36.86 + 0.00 -36.29 + 0.00 3 pl -35.75:+ 0.00 -35.2:% 0.0
3000 - -1 3000 = 3000 -— —- 3000 =1
2000 4 2000 B 2000 ] 2000 -
1000 C B 1000 1 moo:— C=27.98 [pS/Ch - 1000 7
0 EY 0o 0 5 100 - EY 0 = 5 100 =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (1,6,8) TVC(c,b ch) (1,6,9) TVC(c,b, ch) (1,6,10) TVC(c,b ch) (1,6,11)
©nuiLyuse+u4 / 25 T 4.30e+04 / 25 T nuiLg18e+u4 / 25 T 1 4be+04 /25
4000 e, pO 4221+ 0.0 4000 e, pO 4242+ 0.0 4000 e, DO 4256+ 0.0 4000 fom, p0 4246+ 0.0
pl -34.9+ 0.0 pL -35.33+ 0.00 3 pl -35.11 % 0.00 pL -34.77 + 0.00
3000 - 3000 - a000f ] 3000 | E
2000 - 2000 N 2000f ] 2000 - 4

1000 1 1000 N 1000

_: 1000 C = 28.76 [pS/Ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(161 ) TVC(cbch)(1613) TVC(CbCh)(lGl ) TVC(cbch)(1615)
TinuiL4r1e+u4 /25 T bl/e+u4 /25 T nuiL40/e+04 / 25 T by1e+u4 / 25
4000 e pO 4232400 4000 pO 4228+ 00 4000 PD 4222400 4000 e, pO 4214% 00
pl -37.39+ 0.00 pl -36.54 + 0.00 : pl -36.17 + 0.00 pl -36.27 + 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 E 2000 E 2000 E 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(l?O) TVC(cbch)(l7l) TVC(cbch)(172) TVC(cbch)(173)
A7 1 nui 1ooe+u4 / 25 AT 1 nunLsooe+ud [ 25 A7 1nuizose+ud /25 AT 1L ssoe+ud [ 25
4000 e, PO 4185+ 0.0 4000 - po 4203+ 0.0 4000 __- po 4196+ 0.0 4000 e po 4212+ 0.0
pl -35.52 0.00 pl -36.43+ 0.00 : pl -35.66 + 0.00 pl -36.7 £ 0.0

-1 3000

3000 -1 3000

-1 3000

2000 -1 2000 -1 2000 =1 2000

1000 -1 1000 =1 1000 - 1000

0, 0,
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (1, 7 4) TVC(c,b Ch) (1, 7 ) TVC(c,b Ch) (1, 7 6) TVC(c,b Ch) (1, 7 )
- 1L Ub4e+u4 / 25 -1 nui Z4pe+04 [ 25 - rnuiL, ryve+u4 [ 25 - nui Z/4e+04 [ 25
4000 fom, pO 4197+ 0.0 4000 e, pO 4195+ 0.0 4000 e, pO 4239+ 0.0 4000 e, pO 4221% 0.0
Pl -36.87: 000 Pl -36.65: 0.00 [ PL_ -37.08%0.00 Pl -37.36+ 0.00
3000 - 3000 =1 3000 :— —: 3000 -
2000 - 2000 - 2000 3 2000 - -
wol C = 27.12 [ps/c . 1000 . wof C = 26.97 [ps/ch . woof C .
0 EY 00 - 0 0 EY 0 0 5 T -
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (1, 7 8) TVC(c,b Ch) (1, 7 9) TVC(c,b, Ch) (1, 7 10) TVC(c,b Ch) (1, 7 11)
~rnuz01ze+u4 / 25 T g 38be+u4 / 25 T nu1iee+u4 / 25 ~ i 494e+04 [ 25
4000 = pO 4219+ 0.0 4000 pO 4221 0.0 ) DO 4228+ 0.0 4000 P, p0 4239+ 0.0
Pl 3651+ 0.00 Pl -35.85:0.00 [ PL_ -35.98% 0.00 Pl -36.64: 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 B 2000 B 2000 1 2000

1000 e 1000 - 1000 E 1000

0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(l?l ) TVC(cbch)(l?lB) TVC(cbch)(17l ) TVC(cbch)(1715)

TinuiLurse+ud / 25 T u4re+u4 [ 25 ~ 1L ugse+u4 [ 25 T 1 uYe+u4 / 25
4000 e pO 4227+ 0.0 4000 pO 4229+ 00 4000 o, PD 4224% 00 4000} pO 4232+ 00
pl -35.53+ 0.00 pl -36.46 + 0.00 r pl -35.52+ 0.00 pl -35.73+ 0.00

3000 - 3000 B 3000 — 3000 b

2000 — 2000 N 2000 — 2000 1

1000 4 1000 1000

] lo00F C = 27.99 [ps/ch

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (1,8,0)

4000

3000

2000

1000

X~ 1L sure+U4 /25
4174+ 0.0
-36.11 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,84

4000

3000

2000 [~

1000 [~

S 7 w347/25
pO 4213+ 0.0
p1 -37.91+ 0.00

TP delay [ns]

TVC(cbch) (1 8,8

4000 [

3000

2000

1000

0

1 hur 1ooe+ud /25
pD 4204 0.0
p1 -36.65+ 0.00

TP delay [ns]

TVC(cbch) (1,812

4000 [

3000

2000

1000

T 1y1e+u4 / 25
po 4239+ 0.0
pl -36.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81

A 1L agoe+ud [ 25
oo, po 4202+ 0.0
pl -37.17+ 0.00

TP delay [ns]

TVC(cbch) (185

Sinar  9a13/25
pO 4205+ 0.0
p1 -37.43+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

- 1 Sgae+Ud [ 25
pO 4231+ 0.0
pL -36.27 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 8 13

T inui148e+ud [ 25
pO 4221% 0.0
pl -35.39+ 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,8,2)

1000

X~ 1L zz8e+04 [ 25
=, po 4204+ 0.0
L pl -36.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,86

S © uasl/2s
- pO 4208+ 0.0
[ pl -37.13+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(1, 8, 10

- 1 nuiL yose+ud [ 25
-, po 4242+ 0.0
o pl -36.17 + 0.00

3000

TP delay [ns]

TVC(c,b Ch) (1, 8 14

- 1dzerud [ 25
- pD 4239+ 0.0
[ p1 -37.15:+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3

AT 1nuiLs1ze+u4 [ 25
P po 4208+ 0.0
p1 -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

-1 nui 154e+04 / 25
- pO 4210+ 0.0
p1 -37.24+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T sbue+u4/25
= po 4236+ 0.0
p1 -36.14+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8 15

- i z3be+ud [ 25
= pO 4238+ 0.0
p1 -35.93 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,0)

AT 1nui1rve+u4 /25
4196+ 0.0
-36.21+ 0.00

1
50 100

TP delay [ns]
TVC(cbch) (1, 9 4
= po

v385 /25
4211+ 0.0
-36.37 + 0.00

TP delay [ns]

TVC(cbch) (1 9,8

4182+ 0.0
-34.03+ 0.00

© i 130e+u4 / 25
s, pO
[ C=29.38 [ps/ch] N\, 7]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (1,9,12)
T zzoe+u4 [ 25
= po 4208+ 0.0
-34.85 + 0.00

p1

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,1)

™ po

p1

X~ 1ze+ud /25
4206+ 0.0
-35.93+ 0.00

TVC(c,b ch) (1, 9

F- pO

pl

1
100

TP delay [ns]

- nui141e+04 / 25
4224+ 0.0
-36.84 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1 9,9

e, po

~ 1 nu.yaye+ud 25
4214+ 0.0
-34.76 + 0.00

pl

TP delay [ns]

TVC(C, bch) (1,9,13

T nuiL 1s0e+ud / 25
4196+ 0.0
-34.25+ 0.00

[ C =29.20 [ps/ch]

50

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (1,9,2)

- po

pl

AT 1nuiz1se+u4 /25
4202+ 0.0
-36.32+ 0.00

TP delay [ns]

TVC(cbch) (19,6

1000

- P°

p1

-1 Ui 340e+04 / 25
4230+ 0.0
-37.05+ 0.00

TP delay [ns]

TVC(cbch) (1, 9 10

o, pO

© 1 nuiLyese+u4 / 25
4231+ 0.0
-35.68 + 0.00

pl

TP delay [ns]

TVC(cbch) (1,914

~ i gose+u4 / 25
4201+ 0.0
-35.41+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9, 3)

po

pl

AT L ssse+ud [ 25
4235+ 0.0
-38.16+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

feme pO
pl

S nui 1b/e+04 / 25
4235+ 0.0
-36.14 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 9

T dbie+l}4/25

4223+ 0.0
-34.23+ 0.00

[ C=29.22 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (1,9,15

T nui suse+u4 25
4210+ 0.0
-34.37+ 0.00

[ C=29.10 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,10,0)

~nuiL 1voe+ud / 25
e, PO 4198+ 0.0
pl -35.96+ 0.00

TP delay [ns]

TVC(cbch) (1,10,4

- rnun138e+04 / 25
- pO 4186+ 0.0
pl -34.54 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

Tz 31oe+u4 [ 25
- PD 4231+ 0.0
pl -37.36+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

I C =29.41 [ps/ch]

T i 145e+04 / 25
- PO 4224+ 0.0
pl -34+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,10,1)

A1 LU (e+U4 [ 25
[, po 4215+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

~ 1 nui zZ/ve+04 [ 25
e pO 4187+ 0.0
pL -35.22:+ 0.00

TP delay [ns]

TVC(c,b ch) (1,10,9

T nuigsyle+ud / 25
- DO 4237+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (110,13

T 1obe+u4 / 25
= 4229+ 0.0
-33.05+ 0.00

[ C=230.26 [ps/ch] ™ 7]
TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(c,b,ch)=( 1, 10, 2)

T
- po

AT 1nw vas? /25
4201+ 0.0
pl -35.03+ 0.00

TP delay [ns]

TVC(cbch) (1,10,6

-1 nuig z83e+u4 [ 25
- pO 4206+ 0.0
3 pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1000

0

© i pbze+u4 [ 25
- DO 4253+ 0.0
I pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (110,14

T i sple+ud / 25
- PD 4229+ 0.0
I pl -35.02 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,10,3)

A~ i, 10ae+Ud 25
- PO 4199 0.0
pl -34.72+ 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

- 381e+u4 [ 25
- PO 4218+ 0.0
Pl -35.81% 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(1, 10, 11

<1 nuiL byye+ud / 25
- pO 4279+ 0.0
pl -38.39+ 0.00

TP delay [ns]

TVC(cbch) (1,10,15

T is1e+u4 /25
= 4213+ 0.0
-33.78+ 0.00

[ C =29.60 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (1,11,0)

K™ 1nuioure+ud /25
o= po 4202+ 0.0
pl -37.26+ 0.00

TP delay [ns]

TVC(cbch) (1,114

T lp/e+u4 / 25
4207+ 0.0
-35.9+ 0.0

50 10‘0
TP delay [ns]

TVC(ebeh=(1, 11,8

T 1nug.zg4e+04 | 25
= po 4229+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(cbch) (111,12

T gr3e+u4 [ 25
pO 4242+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

A1 nuiLazze+ud [ 25
.. po 4212+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (1,11,5

- nui 153e+04 / 25
- pO 4203 0.0
pL -36.15+ 0.00

TP delay [ns]

TVC(eh.eh)=(1, 11, 9

<1 nub, 188e+U4 / 25
= po 4255 0.0
pl -37.71+ 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T nui syve+ud / 25
pO 4240+ 0.0
pl -36.64 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (1,11, 2)

A” 1L 444e+04 [ 25
- po 4227+ 0.0
o pl -37.42+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

1000

Srnu13re+04 /25
- pO 4222+ 0.0
[ pl -36.21+ 0.00

TP delay [ns]

TVC(eb.eh)=(1, 11, 10

1000

0

X~ 11wz 349e+04 | 25
= po 4273+ 0.0
- pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 14

X~ 1 4u4e+04 1 25
- po 4236+ 0.0
L pl -37.4% 0.0

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

AT 1L sbbe+ud [ 25
- po 4229+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (1,11,7

S nun1.38e+04 [ 25
- pO 4231% 0.0
pL -36.08:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

T nai rgae+u4 / 25
- po 4276+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(cbch) (111,15

Tnaisy/e+ud [ 25
e po 4246+ 0.0
p1 -37.58 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(c,b,ch)=(1,12,0)

T AT ws/3/25
= po 4156+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(cbch) (1,124

- i 1obe+u4 / 25
- pO 4172 0.0
pl -35.28:+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 12,8

T 1nuizuase+u4 [ 25
- po 4198+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(cbch) (1,12,12

T szre+u4 /25
pO 4195+ 0.0
pl -35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

AT 1 nuiLudoe+ud [ 25
peoe.. po 4165+ 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (1,125

- nun zzze+04 [ 25
- pO 4186+ 0.0
pL -35.61% 0.00

50 1(;0
TP delay [ns]

TVCEebeh)=( 1, 12,9

T nugpu/e+ud [ 25
- pO 4204+ 0.0
p1 -34.41+ 0.00

TP delay [ns]

TVC(cbch) (112,13

- Tinui sz1e+ud [ 25
- pO 4193 0.0
pl -35.93+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (1, 12 2)

TrnuiLir1e+U4 /25
- pO 4174+ 0.0
L p1 -35+ 0.0

3000

TP delay [ns]

TVC(cbch) (1126

© i 115e+04 / 25
4184+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

1 nuiLyyge+u4 / 25
= po 4225+ 0.0
L pl -35.64+ 0,00

TP delay [ns]

TVC(cbch) (112,14

T ssve+ud | 25
pD 4209+ 0.0
pl -36.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,12,3)

AT 1 nuiLuyse+ud [ 25
- po 4181+ 0.0
p1 -34.53+ 0.00

TP delay [ns]

TVC(c, bch) (1,127

-1 nui 30Ye+u4 / 25
- pO 4199+ 0.0
pL -35.62:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 12 11

T nuias3e+ud [ 25
= pO 4217+ 0.0
p1 -34.79 + 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- T nai zzoe+ud [ 25
po 4197+ 0.0
-35.29+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1,13,0)

X~ 1 g yobe+U4 / 25
4206+ 0.0
-37.61+ 0.00

50 100

TP delay [ns]

TVC(cbch) (1,134

-1 i 345e+04 / 25
pO 4212+ 0.0
pl -35.32:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 13 8

T L, r49e+04 | 25
= po 4196+ 0.0
p1 -34.34+ 0.00

TP delay [ns]

TVC(cbch) (1,13,12

T4 re+04 /25
= po 4253+ 0.0
pl -36.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,13,1)

P PO

p1

AT 1num s3ze+04 1 25
4205+ 0.0
-37.03+ 0.00

TP delay [ns]

TVC(c, bch) (1,135

F- pO

~nui by e+u4 [ 25
4226+ 0.0
-35.7 £ 0.0

1
50 100

TP delay [ns]

TVC(c, bch) (1, 13 9

pO
pl

~ 1 nuis.a4ye+ud 25

4254+ 0.0
-34.82+ 0.00

[ C =28.72 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (113,13

~ 1 nuiLpuse+ud / 25
4255+ 0.0
-36.99+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (1,13,2)

TP delay [ns]

TVC(cbch) (1136

A~ 1w 5 08e+U4 / 25
Freee po 4205+ 0.0
L pl -36.92+ 0.00

3000

- 1L 488e+04 [ 25
- pO 4234+ 0.0
[ pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (1, 13 10

T rnub9e+ud | 25
F DO 4266+ 0.0
L pl -36.44 + 0.00

TP delay [ns]

TVC(cbch) (113,14

1000

T rnuiLg1ze+04 /25
- pD 4238+ 0.0
L pl -36.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,13,3)

[Fotee po

AT 1 nun o, ye+ud [ 25
4228+ 0.0
-36.41+ 0.00

p1 3

TP delay

TVC(c, bch) (1,137

o, pO

[ns]

“nu/rye+u4 / 25
4240+ 0.0
pl -36.46 + 0.00

TP delay

TVC(ebeh)=(1, 13, 11

= pO

[ns]

T onan L sge+u4 [ 25
4260+ 0.0
pl -36.01+ 0.00

TP delay

TVC(cbch) (1,13,15

[ns]

T nui oyze+ud [ 25
4258+ 0.0
p1 -37.17+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

1
0 50 100

TVC(c,b,ch)=( 1, 14,0)

T LAl vuel/ 25
. po 4202+ 0.0
pl -36.91+ 0.00

TP delay [ns]

TVC(cbch) (1,144

= 1L uBbe+u4 / 25

™, pO 4179+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 14,8

1 nuiz,uzoe+ud | 25

= PD 4175+ 0.0
pl -33.32+ 0.00

[ C =30.01 [ps/ch]

TP delay [ns]

TVC(cbch) (1,14,12

pO

p1

T o/e+u4 /25
4262+ 0.0
-37.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,14,1)

AT 1L 13oe+ud [ 25

e po 4195+ 0.0
pL -36.27 £ 0.00

TP delay [ns]

TVC(c, bch) (1,145

- UL Ub3e+U4 [ 25
™, DU 4193+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVCEebeh)=( 1, 14,9

T nu.a8ze+u4 [ 25
= DO 4201% 0.0
pl -35.19 + 0.00

TP delay [ns]

TVC(cbch) (114,13

e, pO
p1

Tinai13e+ud [ 25
4255+ 0.0
-37.52+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

1000

4000

3000

2000

TVC(cbch) (1,14,2)

A7 1 nuiugze+04 /25
- po 4214+ 0.0
L pl -36.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,146

S i1 1be+ud [ 25
= pO 4177+ 0.0
r pl -36.66+ 0.00

TP delay [ns]

TVC(e b eh)=( 1, 14,10

T L r3e+ud [ 25
- DO 4225+ 0.0
I pl -34.96 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,14,3)

Srna 7 yz06/25
[, PO 4231+ 0.0
pl -37.21+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,7

- nui 3rve+04 / 25
= PO 4200+ 0.0
pL -36.34 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 14 1

-1 3oye+u4 / 25
- pO 4215+ 0.0
pl -34.41+ 0.00

[ C =29.06 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (114,14

1000

F- o

TanuiLigie+ud /25
4262+ 0.0
pl -37.12+ 0.00

TP delay

[ns]

TVC(cbch) (114,15

4000 R,

3000

2000

1000

pO

p1

T nai zzse+ud [ 25
4256+ 0.0
-36.7+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

TrnaLzize+u4 [ 25
- pO 4206+ 0.0
pl -38.07 + 0.00

TP delay [ns]

TVC(cbch) (1,154

Tnun 1 34e+04 / 25
- pO 4226+ 0.0
pl -36.61+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

T L gzoe+u4 [ 25
- po 4227+ 0.0
pl -35.38 + 0.00

TP delay [ns]

TVC(cbch) (1,15,12)

T s/e+ud /25
= po 4234+ 0.0
p1 -35.5+ 0.0

TP delay [ns]

TVC(chh) (1,15,1)

AT 1nun L Sbe+ud [ 25
4209+ 0.0
-37.4 £ 0.0

4000 e po
p1

3000

2000 -

woor- C = 26.74 [ps/c

1 1
50 100

TP delay

TVC(cbch) (1,155

4000 jam, pO

pl

[ns]

~ i 3l/e+u4 /25
4229+ 0.0
-36.34 + 0.00

3000 -

2000

1000 [~ C

50 1(;0
TP delay

TVC(c, bch) (1, 15 9

4000 [, po

[ns]

T nugysze+ud [ 25
4260+ 0.0
-36.5 % 0.0

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (115,13

4000 [,

[ns]

T inai 34ze+04 [ 25
4231+ 0.0
pl -35.55+ 0.00

3000

2000

1000

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,15,2)

TP delay [ns]

TVC(cbch) (1,156

A~ 1nui419e+04 /25
_l' po 4230+ 0.0
o pl -38.31+ 0.00

3000

-1 nuiL301e+04 / 25
- pO 4231 0.0
[ pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (1, 15 10)

1000

0

T 1nuz148e+04 / 25
- po 4274+ 0.0
- pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (1,15,14)

T zoze+u4 [ 25
- pD 4238+ 0.0
L pl -34.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

e po

AT 1L ssoe+ud [ 25
4219+ 0.0
pl -36.92+ 0.00

TP delay

TVC(c, bch) (1,157

o= pO

[ns]

< naia11e+u4 / 25
4232+ 0.0
pl -35.43+ 0.00

TP delay

TVC(eb.eh)=(1, 15, 11

1 nuiL sgbe+u4 / 25
4291+ 0.0
p1 -36.45 + 0.00

pO

[ns]

TP delay

TVC(cbch) (1,15,15

[ns]

T nai1yze+ud [ 25
4236+ 0.0
p1 -35.34+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,0

A7 nun z4ye+04 /25
- po 4207+ 0.0
pl -37.68 0.00

TP delay [ns]

TVC(cbch) (2,0,4

= 1z bope+U5 / 25
pO 4193+ 0.0
p1 -34.79:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 0,8

© g yzze+U5 | 25
= po 4190+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (2,0,12

T 1uiz.444e+06 / 25
= po 42114 0.0
pl -34.62 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,01

A1 Ssae+ud [ 25
F... po 4221% 0.0
pl -37.54:+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,5

=11 Zbbe+u6 / 25
P pO 4197+ 0.0
p1 -34.57+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,9

1 nuiL Zgoe+u5s / 25
= po 4202+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(C, bch) (2,0,13

T 1 nu,p48e+U5 / 25
- pO 4221+ 0.0
pl -35.69+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (2,0,2)

AT nun suse+u4 / 25
_l'_ po 4215+ 0.0
o pl -36.59 + 0.00

3000

TP delay [ns]

TVC(cbch) (20,6

“ a0z /e+u6 / 25
- pO 4212+ 0.0
[ pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (2, 0 10

© 1 nuz 319e+U5 / 25
F 4227+ 0.0
L -36.4 + 0.0

TP delay [ns]

TVC(cbch) (2,0,14

-1 nuizp4pe+U5 / 25
-, pD 4219+ 0.0
L pl -35.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,3

AT rnuiLzrve+ud [ 25
Pe-. po 4208+ 0.0
p1 -36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (2 0,7

= 1 nui Tuse+u6 / 25
=3 pO 4215+ 0.0
pl -34.76 + 0.00

TP delay [ns]

TVC(c,b ch) (2, O

ERALEICK 954e+u6/25
Fres, pO 4231+ 0.0
pl -36.03 + 0.00

TP delay [ns]

TVC(C, bch) (2,0,15

T nan5.0ve+u7 /25
- po 4223+ 0.0
p1 -35.24 + 0.00

TP delay [ns]



TVC(ehe)=(2,1,0) TVCEbe=(2,1,1) TVC(ehe)=(2,1,2) TVC(Ebe)=(2,1,3)
X~ 1w 1o0e+U6 / 25 AT 1 nuiz, (uYe+U6 / 25 X~ 1 nuig oise+U4 /25 AT 1nuai,(4/e+U6 /25
40001, po 4217+ 0.0 4000 ., po 4210+ 0.0 4000, po 4220+ 0.0 4000, po 4221+ 0.0
Pl -40.19+ 0.00 pl_ -38.93: 0.00 [ Pl -37.95: 0.00 pl -37.7£ 0.0
3000 E 3000 E 3000} ] 3000 E
2000 - 2000 E 2000} ] 2000 E

1000 - 1000 =1 1000

. wol C = 26.53 [ps/c .

0 = 0 1= 1 1 0 _1 1=
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (2,1,4) TVC(cbch) (2,1,5) TVC(cbch) (2,1,6) TVC(cbch) (2,1,7)
-1y 4p3e+04 [ 25 -1 nui yg3e+u4 / 25 - rnuzyz1e+u4 [ 25 -1 nui 4b2e+U6 / 25
4000k, pO 4180+ 0.0 4000 pO 4195+ 00 A000F, pO 4199+ 0.0 4000 4202+ 0.0
pl -35.43+ 0.00 pL -35.78 + 0.00 3 pl -35.88:+ 0.00 -35.9+ 0.0
3000~ - 3000 - 3000 — — 3000 -
2000 E 2000 - 2000 — — 2000 E
oo C : 1000 1 w0l C = 27.87 [psichly, ] 1000 :
1 1 - 1 1 - 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (2,1,8) TVC(c,b ch) (2,1,9) TVC(c,b, ch) (2.1,10) TVC(c,b ch) (2,1,11)
©nug, zobe+ud / 25 T2 /ze+u6 / 25 Tnuy.z(e+U5 /25 ~ U b1ye+u6 / 25
4000, pO 4217+ 0.0 4000 [ pO 4238+ 0.0 4000 e, DO 4246+ 0.0 4000 e p0 42445 0.0
pl -36.89 + 0.00 37+ 0.0 3 pl -36.04 + 0.00 pL -36.52+ 0.00

3000 -1 3000 -1 3000 - 3000 .

2000 E 2000 — 2000 - 2000

1000 -1 1000 -1 1000 - 1000

50 T 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(2112) TVC(cbch)(2113) TVC(Cbch)(le ) TVC(cbch)(2115)
Tinuigblie+u6 / 25 Ty g3oe+u4 [ 25 T nun,1yse+ud [ 25 T, usbe+Us / 25
4000 pO 4211+ 00 R pO 4227+ 00 4000 PD 4222+ 0.0 4000, pO 4203£ 00
pl -35.23+ 0.00 pl -36.57 + 0.00 : -36.33+ 0.00 pl -35.94+ 0.00

-1 3000 7

3000 - 3000

- 3000

2000 -1 2000 -1 2000 - 2000

1000 ] 1000 4 1000 — 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0)

A7 nuiL y1se+u6/ 25
4180+ 0.0
-35.26+ 0.00

TP delay [ns]

TVC(cbch) (2,24

)
~ Uil bb/e+U6 / 25
= pO 4195@

pl -37.24+ 0.00

[ C =26.85[ps/c ]

5(‘) 10‘0 =
TP delay [ns]
TVC(c,b ch) (2, 2 8

T L 3roe+U5 / 25
4190+ 0.0
-35.3+ 0.0

1
100

TP delay [ns]

TVC(cbch) (2,212

e, po
p1

~ g g1oe+U5 / 25
4234+ 0.0
-37.09+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1)

=, po

AT 1 nuiLzzae+U4 [ 25
4189+ 0.0
-36.3+ 0.0

p1

TP delay [ns]

TVC(c,b ch) (2 2,5

=1 Uy Uzye+us / 25
4186+ 0.0
-36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

pO
pl

1 nu.Uzye+Us / 25
4238+ 0.0
-35.67 + 0.00

TP delay [ns]

TVC(C, bch) (2,213

T nu.a38e+U5 [ 25
4225+ 0.0
-36.41+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,2,2)

- po

A~ 1 nuiLusre+u6/ 25
4196+ 0.0
-36.88+ 0.00

pl

TP delay [ns]

TVC(cbch) (2,2,6

- 11Uy bBze+V4 | 25
4198+ 0.0
-37.1+ 0.0

TP delay [ns]

TVC(ebeh)=(2,2, 10

= 90

pl

~ 1 boze+Us / 25
4227+ 0.0
-36.05+ 0.00

TP delay [ns]

TVC(cbch) (2,214

1z, (o5e+U6 / 25
4224+ 0.0
pl -36.88 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (2,2,

A

= po

pl

3)

nur y.zse+ud [ 25
4205+ 0.0
-37.65+ 0.00

TP delay [ns]

TVC(c,b ch) (2 2,7

=
pO
pl

nug. bU3e+U6 / 25
4196+ 0.0
-36.81+ 0.00

100

TP delay [ns]

TVC(c,b ch) (2, 2

Tnug, z/5e+u6/25
4226+ 0.0
-35.66 + 0.00

TP delay [ns]

TVC(c,b ch) (2,2,

X1

15

nur 2, 79e+u6 / 25
4228+ 0.0
-35.95+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0)

X~ 1w 4o8e+U5 / 25
4206+ 0.0
-36.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,34

- 1 1uiL,344e+06 / 25
b po 4206+ 0.0
pl -36.54 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2 3,8

< woe+ud /25
- pD 4227+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(cbch) (2,312

- 1 i s44e+04 25
= po 4230+ 0.0
p1 -34.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,31

AT 1w 1rze+U5/ 25
' po 4214+ 0.0
p1 -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

-1 nu 3zbe+u4 [ 25
pO 4197+ 0.0
pL -35.71% 0.00

50 150
TP delay [ns]

TVC(c,b ch) (2 3,9

T nug.z45e+U6 / 25
po 4252+ 0.0
p1 -37.46 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 3 13

1 nuiL pbze+ud / 25
pO 4227+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,3,2)

A1 byle+U5 /25
P, po 4210+ 0.0
L pl -36.23+ 0.00

3000

TP delay [ns]

TVC(cbch) (23,6

- 11U, 38be+U5 / 25
4216+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(eb,oh)=(2, 3, 10

- 1w, ($16+U4 1 25
-, pO 4269+ 0.0
L -36.3+ 0.0

3000

TP delay [ns]

TVC(cbch) (2,3 14

T 1nuis.445e+06 / 25
. pD 4232+ 0.0
L pl -34.96 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,33

A7 1 nuiLuUZe+U6 / 25
= po 4211+ 0.0
p1 -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

=1 U U1be+U6 / 25
e pO 4203+ 0.0
p1 -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

RIS zzse+u6/25
=, pO 4256+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3 15

T nuiLu4e+U6 / 25
[ po 4226+ 0.0
p1 -35.96 + 0.00

TP delay [ns]



TVE(ED.Ch)=(2,4,0) TVe(EDCh)=(2, 4, 1) TVC(ED.Ch)=( 2,4, 2) TVEEDe)=(2,4,3)
X~ 1L yioe+U5 / 25 AT 1 nuiL,1uze+U6 / 25 X~ 1w zs4e+U6 / 25 Tonunzy1e+u5/ 25
4000 fm,, po 4204+ 0.0 4000 e, po 4193 0.0 4000 [, po 4201% 0.0 4000 [, po 4219% 0.0
pl -35.02 0.00 pl -34.68 + 0.00 r pl -35.5+ 0.0 pl -36.39+ 0.00

- 3000

3000 N

1 3000 =1 3000

2000 — 2000 - 2000 ] 2000

1000 B 1000 n 1000 1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2,4,5 TVC(cbch) (24,6 TVC(c, bch) (24,7

S rnun 1 bre+ud /25 - nun Zg/e+u6 / 25 S rnun 4.11e+05/ 25 =1 nub bube+U6 / 25
4000 pO 4209+ 0.0 4000 e, pO 4222+ 0.0 4000 e, pO 4227+ 0.0 4000 e, pO 42341 0.0
pl -35.91:+ 0.00 pL -36.07 + 0.00 3 pl -36.84 + 0.00 pL -36.64 + 0.00

3000~ 4 3000 - 3000 [~ B 3000 1

2000 - - 2000 - 2000~ - 2000 4

10001~ C - 1000 - 1000 r C =27.15 [pS/Ch ] 1000 C -

- : - ] -
-
I 2 oL I " o I L=
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (2, 4 8) TVC(c,b Ch) (2, 4 9) TVC(c,b, Ch) (2, 4 10) TVC(c,b Ch) (2, 4 11)
©1nuz,202e+06 / 25 T 331e+u5 / 25 - 1L gbze+U5 / 25 ~ i 483e+07 / 25
4000 pO 4242+ 0.0 4000 [, pO 4259+ 0.0 4000 e, DO 4277+ 00 4000 fs p0 4270+ 0.0
-38.28+ 0.00 Pl -37.41% 0.00 [ PL_ -37.36% 0.00 Pl -37.28% 0.00

3000~

. 3000 -1 3000 -1 3000

2000 B 2000 - 2000 — 2000 -
1000 E 1000 E 1000 E 1000 E
-
0, L L_=" 0 0, 0
o 50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ebe)=(2 4, 12) TVC(ebeh=(2, 4, 13) TVC(ebe=(2 4, 14) TVC(ebeh)=(2, 4, 15)
- g 514e+05 / 25 T inui sbse+ud / 25 T g 545e+04 / 25 T nuiz 313e+U6 / 25
4000 [, pO 4248+ 0.0 4000 pO 4230+ 0.0 4000 PD 4233+ 0.0 4000 [ pO 4241+ 0.0
-34.79+ 0.00 pl -35.15+ 0.00 F pl -35.2+ 0.0 pl -35.27 + 0.00

3000~

-1 3000 - 3000 - 3000 -1

2000~ - 2000 -1 2000 - 2000

- 1000 [~ -1 1000 -1 1000

oo C = 28.74 [ps/ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,50

A~ 1 nuig 1zae+U5 / 25
= po 4214% 0.0
p1 -35.86+ 0.00

TP delay [ns]

TVC(cbch) (2,54

- iU, 748e+U5 / 25
== po 4190+ 0.0
pl -36.53+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2 5,8

i 3yge+U5 / 25
= po 4214+ 0.0
p1 -34.54 + 0.00

TP delay [ns]

TVC(cbch) (2,5,12

T rnuiLg31e+U6 / 25
4229+ 0.0
-34.81+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51

X1z 1y (e+U6 ] 25
P po 4213+ 0.0
pL -35.6 0.0

TP delay [ns]

TVC(c,b ch) (2 55

= nur Z15e+U6 / 25
= po 4196+ 0.0
pl -36.92 + 0.00

TP delay [ns]

TVC(c,b ch) (2 59

~ 1 nuiz goye+us / 25
- pO 4241% 0.0
p1 -34.64 + 0.00

I C =28.87 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (2, 5 13

TinuiLa)l/e+u6 /25
4244+ 0.0
-34.21+ 0.00

[ C =29.23 [ps/ch] 7

50

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,5,2)

X~ 1 nuip, 1yze+u4 [ 25
- po 4223+ 0.0
[ p1 -36.69 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,56

-1 nuz.489e+04 [ 25
- pO 4203+ 0.0
[ pl -36.08+ 0.00

TP delay [ns]

TVC(eb,oh)=(2, 5, 10

Ty 1r3e+U5 / 25
- po 4249+ 0.0
- pl -35.01+ 0.00

TVC(Cbch) (2, 5 14

TP delay [ns]

pD
pl

S rnu L yze+ud [ 25
4247+ 0.0
-35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3

A~ 1 nuiL5yse+usd [ 25
= po 4223+ 0.0
pL -36.84 + 0.00

TP delay [ns]

TVC(c,b ch) (2 57

=1 U byoe+u6 / 25
e, pO 4205+ 0.0
p1 -36.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 5

T uU::e+u6/25
= 4259+ 0.0
-34.65+ 0.00

[ C =28.86 [ps/ch] ]

50

1
100

TP delay [ns]

TVC(c,b ch) (2, 5 15

T inuiz.z43e+U6 / 25
4238+ 0.0
-34.92+ 0.00

TP delay [ns]



TVC(cbch) (2,6,0

4000

3000

2000

1000

AT 1nunnize+ud /25
- po 4199+ 0.0
pl -35.38+ 0.00

TP delay [ns]

TVC(cbch) (26,4

4000

3000

2000

1000

T rnug.4/3e+06 / 25
- pO 4256+ 0.0
pl -35.98:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 6,8

4000

3000

2000

1000

1 UL Ubbe+U6 / 25
4249+ 0.0
-34.89 + 0.00

C =28.66 [ps/ch] ]

0

1
50 100

TP delay [ns]

TVC(cbch) (2,6,12

4000

3000

2000

1000

T, 12 /e+U6 / 25
pO 4234+ 0.0
pl -33.18+ 0.00

C =30.14 [ps/ch] ™ 1]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

AT 1 nug syze+U5 /25
Fraee po 4209+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

=1 nuy, 048e+U5 / 25
[, DO 4266+ 0.0
pl -35.01+ 0.00

[ C =28.57 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 6,9

1 nuis oze+U5 / 25
- po 4266+ 0.0
pl -35.83 + 0.00

TP delay [ns]

TVC(C, bch) (2,6,13

<1 nup, 1b5e+U5 / 25
= pO 4232+ 0.0
pl -34.77 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,6,2)

A~ 1 nup.ps1e+U5/25
_l_ po 4212+ 0.0
- pl -36.09 + 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

- C = 28.28 [ps/ch

50 10‘0
TP delay [ns]

TVC(cbch) (2, 6 10

1000

T 1w g.59e+U5/ 25
- po 4289+ 0.0
- pl -36.45+ 0.00

1 nuig,494e+05 / 25
e pO 4255+ 0.0
L pl -35.36 + 0.00

TP delay [ns]

TVC(cbch) (2,614

-1 nu,pyze+U5 / 25
__ pD 4232+ 0.0
L pl -35.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

AT rnuiL iy re+ud [ 25
™ po 4221+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(c,b ch) (2 6,7

-1 nu 2use+u4 [ 25
4262+ 0.0
-34.9+ 0.0

[ C =28.65 [ps/ch] ]

50 100
TP delay [ns]

TVC(c,b ch) (2, 6

S UbE+U7/25
= pO 4281+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(C, bch) (2,6,15

T 1 nup,3yze+U6 / 25
= pO 4249+ 0.0
p1 -35.12+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

A~ 1z gooe+U5 /25
4202+ 0.0
p1 -36.29 + 0.00

TP delay

TVC(cbch) (2,7,4

nu

[ns]

v8/3/25
4188+ 0.0
-34.92 + 0.00

= pO
pL
- C N
1 1 -
50 100
TP delay [ns]
TVC(cbch) (2,7,8)
-1 Uy BYpbe+U5 / 25
= po 4209+ 0.0
pl -35.33+ 0.00

TP delay

TVC(cbch) (2,7,12

[ns]

1 nuiL449e+U6 / 25
4219+ 0.0
-36.5+ 0.0

L n n n n 1
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

== po

A1 5aze+U6 | 25
4211+ 0.0
-36.82:+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 7,5

~ U BU/e+V4 [ 25
4190+ 0.0
-34.98 + 0.00

TP delay [ns]

TVCEebeh)=(2,7, 9

1 numg.b4ze+U5 [ 25
4226+ 0.0
-34.89 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 7 13

= pO

T nuiz19ze+U5 [ 25
4214+ 0.0
-35.69+ 0.00

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

4000
3000

2000

1000

1000

TVC(cbch) (2,7,2)

- po

A1, 133e+U6 / 25
4216+ 0.0
p1 -37.61% 0.00

TP delay

TVC(cbch) (2,7,6

pD
pl

[ns]

=1 nurLusge+u4 / 25
4217+ 0.0
-35.46 + 0.00

TP delay

TVC(ebeh)=(2, 7, 10

= F’O

[ns]

© 1 nu.402e+04 / 25
4225+ 0.0
p1 -35.44 + 0.00

TP delay

TVC(cbch) (27,14

[ns]

- 1L gove+Us / 25
4221+ 0.0
-36.1+ 0.0

PR R R S R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3)

e po

A1 nuig, 1sze+u6 / 25
4218+ 0.0
-36.44 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (2 7,7

-1 nuz.0L3e+u4 / 25
4213+ 0.0
-35.4 + 0.0

TP delay [ns]

TVC(c,b ch) (2,71

g,

/bye+u6 125
4247+ 0.0
-35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (2, 7 15

T 1nan szze+U6 / 25
4224+ 0.0
-36.33+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

T n.49e+U5/ 25
Focea. pO 4217+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(cbch) (28,4

[ C =28.86 [ps/ch] ]

50 10‘0
TP delay [ns]

TVC(cbch) (2 8,8

- 1L z84e+06 / 25
pO 4227+ 0.0
p1 -34.65+ 0.00

-

1 nuiL438e+U6 / 25
po 4229+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (2,812

T 1o/e+U5 / 25
= po 4267+ 0.0
pl -36.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,81

AT 1 nuiLZr4e+U6 / 25
F.. po 4228+ 0.0
p1 -35.96 + 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

=1 nui 1ybe+u5 / 25
[Free, 4228+ 0.0
-33.97 + 0.00

[ C =29.44 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 8,9

Tnan1use+u6 / 25
e DO 4236+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(C, bch) (2,813

T nazuve+us /25
= pO 4246+ 0.0
pl -36.29 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,8,2)

- C = 28.41 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (2,86

X~ 1 g Uobe+U6 / 25
po 4230+ 0.0
p1 352+ 0.0

- C = 28.95 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 8 10

-1 b.dve+us 25
-, po 4257+ 0.0
X pl -35.04 + 0.00

Tz, 743e+06 / 25
- pO 4249+ 0.0
[ pl -34.54+ 0.00

TP delay [ns]

TVC(cbch) (2,8 14

T 1nuig.uLve+U6 / 25
__ pD 4269+ 0.0
L pl -36.38+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3

AT 1 nuiLsoze+U6 /25
o po 4228+ 0.0
pl 34+ 0.0

[ C=29.41 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 8,7

-1 nui byle+u6 / 25
-, pO 4261+ 0.0
pL -35.76+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

T e, /aue+u5/25
- po 4280+ 0.0
pl -35.88+ 0.00

TP delay [ns]

TVC(C, bch) (2,815

T nuiagse+u6 / 25
= pO 4270+ 0.0
p1 -37.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0)

A1,

289e+U6 | 25
4163+ 0.0
-35.48+ 0.00

TP delay [ns]

TVC(cbch) (2,94

- 11U, 438e+U5 / 25
b pO 4205+ 0.0
p1 -37.55+ 0.00

50 00

TP delay [ns]

TVC(cbch) (2 9,8

1, gEoe+U5 / 25
4204+ 0.0
-35.55+ 0.00

TP delay [ns]

TVC(Cbch) (2, 9 12

~1ug.uyoe+Us / 25
4201+ 0.0
-36.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,1)

o po

AT 1 nuiLuuLe+u7 /25
4164+ 0.0
-37.01+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 9,5

=1 nuiy 150e+U6 / 25
E pO 4201% 0.0
p1 -37.84+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,9

- po

pl

<1 nuiL ogbe+us / 25
4219+ 0.0
-35.31+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 9 13

T 1 nui s8Ye+U6 / 25
4201+ 0.0
-36.21+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,9,2)

2¢23e+U4 125
4179+ 0.0
-35.15+ 0.00

A1,

= po
p1

TP delay [ns]

TVC(cbch) (29,6

- 11Uy .916e+U6 / 25
- pO 4207+ 0.0
[ pl -36.35+ 0.00

TP delay [ns]

TVC(eb,oh)=(2, 9, 10

= F’O

1 nuig,uBbe+Us / 25
4242+ 0.0
-35.43+ 0.00

pl

TP delay [ns]

TVC(cbch) (2,914

= PD
pl

Trnuy.171e+05 /25
4205+ 0.0
-36.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3)

A
P po
pL

1 1urs,Zbse+U6 / 25
4169+ 0.0
-35.17 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2 9,7

E pO
p1

~ Uy Z/1e+U6 / 25
4223+ 0.0
-37.83% 0.00

rc

100

TP delay [ns]

TVC(c,b ch) (2, 9

= DO

- 4g=e+u6/25
4240+ 0.0
-36.07 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (2, 9

= pO

15

-1z zoze+ud [ 25
4203+ 0.0
-36.33+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

Tz y30e+U6 / 25
Pee,, pO 4162+ 0.0
pl -35.78+ 0.00

TP delay [ns]

TVC(cbch) (2,104

T Uy 31/e+05 /25
4194+ 0.0
-35.1+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (2, 10 8

1L, /uge+U6 / 25
= PD 4216+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (2,10, 12

T 341e+U6 / 25
= po 4242+ 0.0
pl -35.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

A7 1 nun.b4ze+U / 25
pose,, po 4173+ 0.0
p1 -34.95+ 0.00

TP delay [ns]

TVC(c, bch) (2,10,5

= 11U 3b8e+U6 / 25
e pO 4200+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 10,9

<1 nub.obbe+u5 / 25
- pO 4246+ 0.0
pl -35.74 + 0.00

TP delay [ns]

TVC(cbch) (210,13

Tinai1z1e+U6 / 25
= pO 4232+ 0.0
p1 -36.3+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

A7 1 nuiuzae+04 /25
- po 4192+ 0.0
L p1 -36.8+ 0.0

3000

TP delay [ns]

TVC(cbch) (2,10,6

- g 183e+04 / 25
- pO 4229+ 0.0
[ pl -36.01+ 0.00

TP delay [ns]

TVC(cbch) (2,10, 10

1 nuiL31be+U6 / 25
-, po 4278+ 0.0
- pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (2.10,14

Tz 134e+06 / 25
F-. pD 4232+ 0.0
L pl -35.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,10, 3)

AT 1 nuiLobze+U6 /25
e po 4188+ 0.0
p1 -35.83+ 0.00

TP delay [ns]

TVC(c, bch) (2,10,7

-1 U 382e+U5 / 25
- pO 4228+ 0.0
p1 -35.94 + 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(2,10, 11

71 nuis.oy3e+U6 / 25
- po 4275+ 0.0
pl -37.33+ 0.00

TP delay [ns]

TVC(cbch) (2,10,15

T 1 nu,by3e+U6 / 25
P, 4236+ 0.0
-34.79+ 0.00

[ C =28.75 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

X~ 1 nuig z41e+05 /25
P po 4178+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

TVC(cbch) (2, 11 4

=1 i, 388e+U6 / 25
4191+ 0.0
-34.9+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (2,11,8

1 nuiL450e+U6 / 25
= po 4210+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 12

-1 nug, (10e+04 [ 25
= po 4233+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 11 1)

-1 2zdse+ud | 25
e pO 4191+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 5

Tnan2.43e+04 1 25
4195+ 0.0
-35.7 + 0.0

50 150
TP delay [ns]

TVC(cbch) (2,11,9

T nuiz 528e+U6 | 25
= pO 4228+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 11 13

T nuiL 189e+U6 / 25
- pO 4236+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000

3000

2000

TVC(CbCh) (2, 11 2)

1000

©rnwgnaze+Us / 25
= pO 4198+ 0.0
[ p1 -36.25+ 0.00

3000

TP delay [ns]

TVC(chh) (2, 11 6

© U b13e+u4 / 25
- pO 4203+ 0.0
[ pl -35.85+ 0.00

TP delay [ns]

TVC(eb.ch)=(2, 11, 10

X~ 1 iz gyze+U5 / 25
po 4245+ 0.0
pl -35.03 + 0.00

TP delay [ns]

TVC(c,b Ch) (2,11, 14

1000

X~ 1 iz 3o0e+U5 / 25
B po 4241+ 0.0
[ p1 -36.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,11,3)

AT 1 nuiLYysse+UB / 25
Fee, po 4197+ 0.0
p1 -35.78 + 0.00

TP delay [ns]

TVC(CbCh) (2, 11 7

=1 nui bule+u6 / 25
e, pO 4217+ 0.0
p1 -35.93+ 0.00

50 160
TP delay [ns]

TVC(Ebeh=(2, 11, 11

T nuin31e+U5 / 25
s, pO 4230+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(c,b Ch) (2, 11 15)

<1 nu, 750e+U6 / 25
= po 4243+ 0.0
p1 -36.03+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 12 0)

1nun L 1se+u6 /25

.. pO 4200+ 0.0
pL -37.33+ 0.00

TP delay [ns]

TVC(Cbch) (2, 12 4

- pO

T/ re+U5 /25

-2

4221+ 0.0
-36.3+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (2,12,8

1 nup p14e+U5 / 25

= pD 4204+ 0.0
p1 -34.88:+ 0.00

TP delay [ns]

TVC(Cbch) (2, 12 12

Tz, 343e+06 / 25
4242+ 0.0
-36.01+ 0.00

L n n n n 1
50 100

TP delay [ns]

TVC(chh) (2,12,1)

4000 po

p1

K™ rnuiLg1ze+U6 / 25
4204+ 0.0
-38.06 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b Ch) (2, 12 5

4000 e DO

pl

~ 1 nu.40/e+u4 / 25
4230+ 0.0
-36.64 + 0.00

3000 -

2000

w00 C = 27.29 [pS/Ch

TP delay [ns]

TVC(cbch) (2,12,9

4000 B

~ i nuny.1ye+us /25
po 4226+ 0.0
pl -35.63 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (2,12,13

uYe+ub / 25
4230+ 0.0
-34.93+ 0.00

X rnan g

4000 B po

p1

3000

2000

1000

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,12,2)

TP delay [ns]

TVC(Cbch) (2, 12 6

X~ 1L z4pe+U6 / 25
.. po 4216+ 0.0
L pl -37.32+ 0.00

3000

-1y 28ze+U5 [ 25
- pO 4238+ 0.0
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- pl -35.09 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 12 14

T 1nup.yr1e+U5 / 25
- pD 4241+ 0.0
L pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

AT 1nug,$r2e+U5 /25
4216+ 0.0
pl -36.54+ 0.00

po

TP delay

TVC(c,b Ch) (2, 12 7

= pO

[ns]

-1 Uy 88be+U6 / 25
4259+ 0.0
p1 -37.31% 0.00

50 100
TP delay

TVC(eheh)=(2,12, 11

Fes, pO

[ns]

T nuiL /40e+U6 / 25
4241+ 0.0
p1 -35.24+ 0,00

TP delay

TVC(cbch) (2, 12 15

[ns]

T nur.pU/e+U6 / 25
4240+ 0.0
p1 -35.38 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,13,0)

X~ 1 g 530e+U5 / 25
e po 4202+ 0.0
pl -36.69 = 0.00

TP delay [ns]

TVC(cbch) (2,134

- 1nu 241e+05 / 25
- pO 4237+ 0.0
pl -39.89+ 0.00

TP delay [ns]

TVC(cbch) (2, 13 8

© 1 nug,159e+06 / 25
=, pO 4199+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(cbch) (2,13,12)

-y .usve+Us / 25
= po 4228+ 0.0
pl -36.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,13,1)

AT 1 nuis.sboe+ud [ 25
e po 4222+ 0.0
p1 365+ 0.0

TP delay [ns]

TVC(c, bch) (2,135

-1 nuiL439e+04 / 25
- pO 4242+ 0.0
p1 -39.45+ 0.00

TP delay [ns]

TVCEebeh)=(2 13,9

T nug. 749e+U5 / 25
4230+ 0.0
-34.9 £ 0.0

TP delay [ns]

TVC(cbch) (213,13

Tanang./re+ud |25
- pO 4224+ 0.0
pl -36.01+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000 [,
3000
2000

1000

TVC(CbCh) (2,13,2)

A~ 1 nuizoose+u5/ 25
- po 4213+ 0.0
o pl -36.5+ 0.0

3000

TP delay [ns]

TVC(cbch) (2,136

©1nug, 144e+05 | 25
F pO 4251+ 0.0
- pl -39.52 + 0.00

TP delay [ns]

TVC(cbch) (2,13,10

1000

TnanL/1e+u6/25
- DO 4243+ 0.0
L pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (2.13,14

- 1L, r9ype+U5 / 25
4227+ 0.0
-35.9+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

A- 1 L 4dae+UT | 25
[, po 4235+ 0.0
p1 -37.31% 0.00

TP delay [ns]

TVC(c, bch) (2,13,7

- 1ire+u7/25
E po 4245+ 0.0
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-34.65+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 3,7

- pO

pl

=1 i Uoge+u4 / 25
4249+ 0.0
-34.69 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 3

B pO

T b‘Jbe+U4/25
4250+ 0.0
-36.74 + 0.00

pl

TP delay [ns]

TVC(C, bch) (3,3,15

T nui sboe+ud / 25
4238+ 0.0
-36.58 + 0.00

TP delay [ns]



TVC(cbch) (3,4,0)

4000 [

3000

2000

1000

AT 1nui1yre+ud /25
po 4193+ 0.0
pl -36.8+ 0.0

TP delay [ns]

TVC(cbch) (34,4

T 14/e+04 /25
pO 4228+ 0.0
pl -36.17:+ 0.00

4000 e
3000 [ ]
2000 = ]
1000~ C ]
0 = 00
TP delay [ns]
TVC(cbch) (3,4,8)
T nu.414e+04 /25
4000 [ pD 4211+ 0.0
p1 -34.45 + 0.00

3000

2000

1000

0

0

TP delay [ns]

TVC(cbch) (3,4,12

4000 [

3000

2000

1000

T rnuiLgue+ud / 25
pO 4236+ 0.0
pl -36.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.4,1)

X 1L iy re+ud | 25
po 4190+ 0.0
pL -36.34+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,5

~ 1 nun Zg/e+u4 / 25
pO 4233+ 0.0
p1 -36.84 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 4,9

-1 nug.ysye+ud / 25
4230+ 0.0
-35+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,4,13

T nuiplye+ud / 25
pO 4223+ 0.0
pl -37.39+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,4,2)

TP delay [ns]

TVC(cbch) (34,6

AT 1nun 1sse+u4 /25
P po 4187+ 0.0
[ p1 -35.89 + 0.00

3000

-1 nuiL390e+u4 / 25
- pO 4241 0.0
[ pl -37.52+ 0.00

TP delay [ns]

TVC(cbch) (3, 4 10

1000

0

©1nuizusve+ud | 25
- po 4240+ 0.0
- pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (3,4,14

T L doe+ud /25
= pD 4223+ 0.0
L p1 -36.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

AT rnuiLzuse+ud [ 25
oo po 4206+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

- nun 338e+04 / 25
- pO 4248+ 0.0
pL -36.08:+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 4

T bzbe+u4/25
e pO 4245+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(C, bch) (34,15

T nui sose+ud / 25
- po 4226+ 0.0
p1 -36.22+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,5,0)

T Luse+ud /25
pO 4202+ 0.0
p1 -35.38 + 0.00

1
50 100

TP delay [ns]
TVC(cbch) (3 54)
“nuiLU/ve+u4 / 25
e pO 4214+ 0.0
p1 -35.48 ::‘
- C |
1 L )
50 100
TP delay [ns]
TVC(c,b ch) (3, 5 8

T 3.zae+04 /25
po 4240+ 0.0
pl -35.08 + 0.00

0

TP delay [ns]
TVC(Cbch) (3, 5 12

T slie+ud /25
pO 4294+ 0.0
pl -36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51)

AT rnuiLibie+ud /25
po 4228+ 0.0
p1 -35.86+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

=1 nui 0yye+u4 / 25
4203+ 0.0
-34.8 % 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

T nu, fbze+ud | 25
po 4269+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 5 13

T nai zgbe+ud [ 25
pO 4282+ 0.0
pl -36.89+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (3,5,2)

AT 1nuLurze+u4 /25
po 4232+ 0.0
p1 -36.02+ 0.00

1000

TP delay [ns]
TVC(cbch) (3 56)
“nuiL1yle+u4 / 25
F- pO 4207+ 0.0
[ pl -34.49:_0.:‘
r C =28.99 [ps/ch 7
1 L i
50 100

TP delay [ns]

TVC(cbch) (3, 5 10

Tz 145e+04 / 25
po 4284+ 0.0
p1 -35.04 + 0.00

TP delay [ns]

TVC(cbch) (3,5,14

1000

T go3e+u4 [ 25
pD 4282+ 0.0
pl -36.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3)

AT 1L zuse+ud [ 25
po 4240+ 0.0
p1 -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

- 1nun Zz1e+04 / 25
pO 4219+ 0.0
p1 -34.47 + 0.00

TVC(c,b ch) (3, 5

TP delay [ns]

T 4b/e+u4/25
pO 4289+ 0.0
p1 -35.14+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 5 15

T nui s30e+ud / 25
pO 4295+ 0.0
p1 -37.03+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(3, 6,0)

. X © yay3 )25
- PO 4175+ 0.0
pl -34.26 + 0.00

TP delay [ns]

TVC(cbch) (36,4

Srnuan113e+04 /25
™~ pO 4240+ 0.0
pl -36.82:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

©1nuiz.440e+04 | 25
- PD 4229+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

- i 1ibe+ud [ 25
- PO 4221+ 0.0
pl -35.26 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,1

AT 1 nuiLuzze+u4 [ 25
- po 4186+ 0.0
pl -34.74 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

~ 1 nuiLUrbe+u4 [ 25
- pO 4256+ 0.0
p1 -37.64+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

~ 1 nug.b40e+u4 / 25
- DO 4256+ 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,13

T u3re+ud [ 25
- pO 4233+ 0.0
pl -36.05 + 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,6,2)

1000

X~ 1L uroe+U4 /25
- PO 4203 0.0
L pl -35.38 + 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

- rnuiL1z4e+04 [ 25
- pO 4258+ 0.0
3 pl -37.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 6 10

T nuiLba3e+U4 / 25
- DO 4250+ 0.0
r pl -35.45+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,6,14

- LU /e+04 ] 25
- pD 4246+ 0.0
r pl -36.64 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT 1 nuiLU4/e+U4 /25
= PO 4192+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

- nui Zge+u4 / 25
- PO 4261+ 0.0
Pl -37.99: 0.00

TP delay [ns]

TVC(c,b ch) (3, 6

T rnug; 559e+u4/25
- pO 4264 £ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

- i 144e+U4 [ 25
- pO 4239+ 0.0
pl -35.75+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

A /-uuuue+u4/25
- po 4195+ 0.0
pl -35.29+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,7,

s rna 9213125
== po 4204+ 0.0
pl -35.58 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

T rnuiLg/1e+U4 /25
- po 4212+ 0.0
pl -37.16 + 0.00

TP delay [ns]

TVC(cbch) (3,7,12

T sule+u4 / 25
= po 4225+ 0.0
pl -34.82+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,1)

AT 1 nuLusbe+ud /25
po 4200+ 0.0
pl -35.14+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

- nui 1u8e+u4 / 25
4194+ 0.0
-34.9 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

~ 1 nu.4z9e+u4 [ 25
po 4239+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,13

Tinaizrze+ud [ 25
4208+ 0.0
-35.11 + 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (3,7,2)

XL 1iie+ud [ 25
_- po 4215+ 0.0
L pl -36.2+ 0.0

3000

TP delay [ns]

TVC(cbch) (37,6

Tanu 1.1e+04 /25
- pO 4212+ 0.0
[ pl -35.99+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

T ry1e+u4 [ 25
= po 4254+ 0.0
L pl -36.89 + 0.00

3000

TP delay [ns]

TVC(cbch) (37,14

T n1e+u4 /25
- pD 4209+ 0.0
L p1 34,51 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)

A1 L1zerud | 25
o= po 4215+ 0.0
p1 -35.49+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

-1 nun Z3be+u4 / 25
- pO 4226+ 0.0
pL -35.77+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 7

T 4b/e+u4/25
= pO 4253+ 0.0
p1 -37.08:+ 0.00

TP delay [ns]

TVC(C, bch) (3,7,15

Tinuizole+ud [ 25
- po 4216+ 0.0
p1 -35.53+ 0.00

TP delay [ns]



TVC(c,b Ch) (3,8,0) TVC(c,b Ch) (3,8,1) TVC(c,b Ch) (3,8,2) TVC(c,b Ch) (3,8,3)
K- 1 Zo1e+0a ] 25 %1 Lure+Ua ] 25 K- 1 e 04 ] 25 K Szserud ] 25
4000 po 4219+ 0.0 4000 po 4197+ 0.0 4000 po 4200+ 0.0 4000 e po 4230£ 0.0
Pl -37.46+0.00 pl 3562+ 0.00 F Pl -36.06+ 0.00 Pl -37.240.00

3000

-1 3000 -1 3000 -1 3000

2000 1 2000 -1 2000 = 2000

1000 - 1000 =1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (38,4 TVC(cbch) (3,85 TVC(cbch) (3,86 TVC(c, bch) (3,87

- rnuiL1ule+ud / 25 T zr3e+u4 [ 25 - 1L z8ge+u4 [ 25 -1 nui baze+u4d / 25
4000 e pO 4222+ 0.0 4000 DU 4209+ 0.0 4000w pO 4217+ 0.0 4000 fa pO 4238+ 0.0
pl -35.45+ 0.00 pL -35.28 + 0.00 3 pl -35.33+ 0.00 pL -36.23  0.00
3000 -1 3000 -1 3000 = 1 3000 - T
2000 [~ — 2000 - 2000~ - 2000 4
1000 C - 1000 - 1000 r C =28.30 [pS/Ch ] 1000 C -
- [ -] -
- F - -
- [ - -
0, L 0 L 0, L 0 L =
50 100 50 00 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3 8,8 TVC(cbch) (3 8,9 TVC(cbch) (3, 8 10 TVC(cbch) (3, 8

© 1 nug,bgse+u4 / 25 T g byle+u4 / 25 T, (Zoe+u4 [ 25 T, 1U::e+u4/25
4000 pO 4249+ 0.0 4000 = 4265+ 0.0 4000 [ pO 4271+ 0.0 4000 o pO 4275+ 0.0
pl -38.35 + 0.00 -37.7+ 0.0 3 pl -38.07 + 0.00 pL -38.17 + 0.00
3000 1 3000 B 3000 - 3000 -
2000 4 2000~ - 2000 - 2000 4
1000 - w0 C = 26.52 [pS/C - 1000 I ] 1000 =
-
I 1L " [
0 0 50 100 % 50 00 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,812 TVC(C, bch) (3,8,13 TVC(cbch) (3,814 TVC(C, bch) (38,15

© L suve+u4 / 25 Tonaeyze+ud |25 T rnuiLz43e+04 / 25 T nai szse+ud [ 25
4000 e PO 4238+ 0.0 4000 PO 4234+ 0.0 4000 - PD 4232+ 0.0 4000 Fm PO 4242+ 0.0
pl -36.29+ 0.00 pl -36.2+ 0.0 r pl -36.48 + 0.00 pl -35.82+ 0.00

3000

-1 3000 - 3000 N 3000 T

2000 . 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,9,0)

K™ nuiLulse+ud /25
po 4214+ 0.0
pl -35.58+ 0.00

TP delay [ns]
TVC(cbch) (3 9,4)
~ 1 nuz.045e+04 / 25
e pO 4208+ 0.0
pl -35.03 ::‘
- C |
1 L -
50 100
TP delay [ns]
TVC(c,b ch) (3, 9 8

©1nuiz,ugoe+u4 | 25
PD 4215+ 0.0
p1 -34.97 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,9,12

TrnuiLgrse+u4 [ 25
pO 4270+ 0.0
pl -36.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,1)

AT 1 nuLUbze+ud [ 25
po 4231+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(c,b ch) (3 9,5

- 1nuiLY/4e+04 [ 25
pO 4215 0.0
pL -36.09+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,9

Tanans /e+u4 | 25
po 4228+ 0.0
pl -35.54 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,9,13

T nuibzae+ud [ 25
pO 4248+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,9,2)

AT 1 nuiusse+ud / 25
- po 4230+ 0.0
- pl -35.84 + 0.00

3000

TP delay [ns]

TVC(cbch) (39,6

-1 nuz 359e+04 / 25
- pO 4231 0.0
[ pl -35.99 0.00

3000

TP delay [ns]

TVC(cbch) (3, 9 10

Tz 141e+04 /25
- po 4249+ 0.0
- pl -34.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,9,14

~ 1L boze+04 / 25
- pD 4254+ 0.0
L pl -37.87 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,3

AT 1 nuiLUr4e+U4 [ 25
e po 4229+ 0.0
pl -35.01+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,7

-1 nun By3e+u4 / 25
- pO 4241+ 0.0
pL 3511+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 9

T, /Ude+U4/25
=l 4255+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,9,15

T nui n43e+u4 [ 25
- pO 4247+ 0.0
p1 37+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

T ive+ud /25
- pO 4218+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (3,104

- rnuiL193e+04 / 25

- pO 4205+ 0.0
pl -36.82:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3, 10 8

- pD

1 nuiz,uzze+u4 | 25

pl -36.97 + 0.00

4250+ 0.0

TP delay [ns]

TVC(cbch) (310,12

1 nuiL 1obe+ud / 25

= po 4233+ 0.0
p1 -34.99 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (3,10,1)

F po

A7 1 nuiL1ooe+ud [ 25

pl -37.94+ 0.00

4220+ 0.0

TP delay [ns]

TVC(c, bch) (3,10,5

“nuiLz/e+u4 [ 25
4212+ 0.0
-36.8 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 10

Tinugyl/e+ud /25
- po 4263+ 0.0
pl -36.65 + 0.00

TP delay [ns]

TVC(cbch) (310,13

Tonan L uze+ud | 25
= pO 4233+ 0.0
pl -34.33+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (3,10,2)

A7 nun zsye+u4 [ 25

TP delay [ns]

TVC(cbch) (3,10,6

= po 4218+ 0.0
L pl -37.43+ 0.00

3000

Tnun1.43e+04 /25
- pO 4224+ 0.0
- pl -36.65 + 0.00

TP delay [ns]

TVC(cbch) (3, 10 10

0

© 1z, rgbe+u4 | 25
- po 4276+ 0.0
- pl -37.13+ 0.00

TP delay [ns]

TVC(cbch) (3.10,14

1000

T Luse+ud /25
- pD 4235+ 0.0
L pl -35.21+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,10,3)

AT 1 nuaiLuaze+ud [ 25

P po 4219+ 0.0
p1 -36.04 + 0.00

TP delay [ns]

TVC(c, bch) (3,10,7

- 1nui 44/e+04 / 25

E pO 4232+ 0.0
pL -37.98+ 0.00

e 4
. e
50 100
TP delay [ns]

TVC(cbch) (3, 10 1

-1 nuiL puoe+u4 / 25
- pO 4274+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(cbch) (3,10,15

TinuiLiyie+ud /25
= 4224+ 0.0
-35.61+ 0.00

PR PR S S |
50 100

TP delay [ns]
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1000
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3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3,11,0)

K™ 1nui1uze+u4 /25
4186+ 0.0
-36.81+ 0.00

1
100

TP delay [ns]

TVC(cbch) (3,11,4

=1 nurLuysbe+ud / 25
= pO 4169+ 0.0
pl -35.33+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3, 11 8

T 1nuizy4se+u4 | 25
= po 4238+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(cbch) (311,12

T rnuiLyroe+u4 / 25
- po 4217+ 0.0
pl -35.46 + 0.00

PR
100

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3, 11 1)

nur

- pO
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- pO 4184+ 0.0
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PD 4200+ 0.0
p1 -34.78 + 0.00
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~ 1 nug gbze+ud / 25
= po 4225+ 0.0
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pO 4217+ 0.0
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pL -36.78:+ 0.00

50 1(;0
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T bzze+u4/25
= pO 4254+ 0.0
p1 -34.74+ 0.00
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pl -35.96 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(4, 4,9

po
pl

-1 nug.441e+04 / 25
4249 0.0
-36.49+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 4, 4

, 13

- i 144e+04 [ 25
4212+ 0.0
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TVC(c,b,ch)=(4,9, 4) TVC(c,b,ch)=(4,9,5) TVC(c,b,ch)=(4,9,6) TVC(c,b,ch)=(4,9,7)
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TP delay [ns]

TVC(cbch) (54,6

T rnun 1 50e+04 [ 25
pO 4216+ 0.0
pl -37.84 0.00

TP delay [ns]

TVC(cbch) (5, 4 10

T 1nuizu4se+u4 | 25
-, po 4258+ 0.0
- pl -36.34 + 0.00

3000

TP delay [ns]

TVC(cbch) (5,414

TrnuiLzyre+u4 [ 25
4220+ 0.0
-34.6 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,4,3)

e po

pl

AT rnuiLbrse+ud /25
4205+ 0.0
-36.64 + 0.00

TP delay [ns]

TVC(c,b ch) (5 4,7

-1 i Boye+u4 / 25
- pO 4213+ 0.0
pl -36.89 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (5, 4

T, /sye+u4/25
- po 4265+ 0.0
pl -37.59 + 0.00

TP delay [ns]

TVC(C, bch) (54,15

T naiagse+ud [ 25
- po 4219+ 0.0
p1 -35.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,5,0

AT 1nui14ze+04 /25
P, po 4184+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (55,4

- i 11ve+u4 / 25
- pO 4186+ 0.0
pl -36.88:+ 0.00

TP delay [ns]

TVC(cbch) (5 58

T g, zgoe+u4 | 25
- pO 4240+ 0.0
p1 -37.5+ 0.0

TP delay [ns]

TVC(cbch) (55,12

T ssze+u4 [ 25
= po 4230+ 0.0
pl -35.38+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5, 1

x- 1L Z14e+U4 | 25
- po 4191+ 0.0
pL -38.01% 0.00

TP delay [ns]

TVC(c,b ch) (5 55

-1 nui 1bbe+u4 / 25
- pO 4191% 0.0
pL -37.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 59

~ 1 nug ogye+ud / 25
4265+ 0.0
-37.5+ 0.0

TP delay [ns]

TVC(C, bch) (5,5,13

Tinaizzie+ud [ 25
= pO 4229+ 0.0
pl -34.78 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (5,5,2)

A7 1 nui usae+u4 / 25
= po 4204+ 0.0
L pl -37.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (5,56

- rnunzgle+ud [ 25
- pO 4203+ 0.0
[ pl -36.28+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 5 10

1000

0

1 nuiLbbbe+u4 / 25
- po 4271+ 0.0
- pl -37.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (55,14

1 nuiLquve+ud / 25
= pD 4241+ 0.0
L pl -36.03+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3

AT 1L zzoe+ud [ 25
poee, po 4209+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(c,b ch) (5 57

S rnan 1476404 125
e, pO 4207+ 0.0
pL -36.22:+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 5

T 4use+u4/25
- pO 4266+ 0.0
p1 -37.13+ 0.00

TP delay [ns]

TVC(C, bch) (5,5,15

- 1zevud ] 25
e po 4230+ 0.0
p1 -35.03  0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,6,0

A /-uu.we+u4/25
- po 4182+ 0.0
pl -37.69 0.00

1
50 100

TP delay [ns]

TVC(cbch) (56,4

T ruz0rse+u4 [ 25
- pO 4196+ 0.0
pl -37.19+ 0.00

[ C =26.89 [ps/c ]
% oo
TP delay [ns]
TVC(c,b ch) (5 6,8

L, ryve+u4 | 25
po 4217+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(cbch) (5,6,12

© i zyse+u4 [ 25
pO 4233+ 0.0
pl -36.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,6, 1

AT 1L ssse+ud [ 25
- po 4198+ 0.0
pl -38.39+ 0.00

TP delay [ns]

TVC(c,b ch) (5 6,5

- 1nu.z41e+04 [ 25
P po 4188+ 0.0
pL -37.16+ 0.00

TP delay [ns]

TVC(c,b ch) (5 6,9

~ 1 nui.a45e+04 [ 25
= po 4225+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(C, bch) (5.6,13

T nuiLgsye+ud [ 25
- pO 4222+ 0.0
pl -36.29 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

TVC(cbch) (5,6,2)

AT 1nui3rve+u4 /25
F po 4211+ 0.0
L pl -38.49+ 0.00

3000

TP delay [ns]

TVC(cbch) (56,6

Tz 1y/e+u4 [ 25
- pO 4196+ 0.0
3 pl -37.16+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 6 10

1000

0

T nuz13p0e+04 / 25
= po 4243+ 0.0
o pl -36.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (56,14

1000

T gie+ud /25
- pD 4212+ 0.0
[ p1 -35.88 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,6,3)

AT 1 nuiLzzae+04 [ 25
po 4214+ 0.0
pl -37.87 + 0.00

TP delay [ns]

TVC(c,b ch) (5 6,7

-1 i Ygse+u4 / 25
- pO 4206+ 0.0
p1 -36.46 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 6

T 4abe+u4/25
- pO 4246+ 0.0
p1 -36.15+ 0.00

TP delay [ns]

TVC(C, bch) (5.6, 15

T nui zove+ud [ 25
pO 4230+ 0.0
p1 36+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,7,0

X~ 1w 14e+04 [ 25
- PO 4200+ 0.0
pl -36.37+ 0.00

TP delay [ns]

TVC(cbch) (57,4

- i 11ve+u4 [ 25
P, pO 4212+ 0.0
pl -37.09+ 0.00

TP delay [ns]

TVC(cbch) (5 7,8

1 nuizgove+u4 | 25
- PD 4225+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (5,7, 12

A1

e, 0
p1

zoze+U4 125
4250+ 0.0
-35.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (57,1

AT 1 nuiLzuoe+ud [ 25
- po 4213+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (57,5

Trna Bbb6 / 25
DU 4214+ 0.0
pL -36.32.+ 0.00

TP delay [ns]

TVC(c,b ch) (5 7,9

~ 1 nug 134e+04 / 25
DO 4257+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(C, bch) (5,7, 13

X1

po
p1

nuiL138e+U4 / 25
4254+ 0.0
-36.3+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

1000

4000

3000
2000

1000

TVC(cbch) (5,7,2)

X~ 1w syze+U4 [ 25
- po 4206+ 0.0
3 Pl -36.38+ 0.00

3000

TP delay [ns]

TVC(cbch) (57,6

1000

T rnuiLz/4e+04 [ 25
- pO 4220+ 0.0
I pl -36.39:+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 7 10

© 1L s0ze+u4 / 25
- DO 4254+ 0.0
I pl -36.02.+ 0.00

3000

TP delay [ns]

TVC(cbch) (57,14

wr

pD

- L.1e+ud /25
4254+ 0.0
pl -35.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,7,3

AT 1nuiLs1ze+u4 [ 25
- po 4225+ 0.0
pL -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (5 7,7

-1 nui 145e+04 / 25
- PO 4231% 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 7

SRAL R bme+u4/25
- pO 4256+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(C, bch) (57,15

pO
p1

T nuiLulve+ud /25
4254+ 0.0
-35.3+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5,8,0)
T Ao

u ” y148/25
po 4213+ 0.0
pL -35.12 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 8, 4

S 7 w023/ 25
po 4193+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 8, 8

T nuig.480e+U4 / 25
PO 4224+ 0.0
pl -35.97 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 12

- vuzl/ 25
po 4263+ 0.0
pl -35.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5,8,1)
T A

“rwar 7 w07/ 25
— po 4197+ 0.0
pL -35.09+ 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 8,5

= nur 17140404 /25
== po 4197+ 0.0
pl -36.32+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 8,9

T nu Bz3e+u4 25
- po 4252+ 0.0
-36.9 + 0.0

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 13

TinuiLg/e+ud [ 25
- po 4268+ 0.0
pl -36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5,8,2)
T X

- C = 28.19 [ps/ch

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 6

S v438/25
-, po 4200+ 0.0
L pl -35.47 + 0.00

-1 nui148e+04 / 25
e po 4221 0.0
[ pl -35.64+ 0.00

- C = 28.06 [ps/ch

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 10

© 1 nuiLgoze+u4 / 25
- po 4263+ 0.0
- pl -35.9+ 0.0

- C = 27.85 [ps/ch

0

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 14

Srua” /ou6 /25
- po 4249% 0.0
[ pl -34.61+ 0.00

- C = 28.90 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5, 8, 3)
T A

S 7 y8/25
po 4228+ 0.0
pL -36.36  0.00

TP delay [ns]

TVC(c,b,ch)=(5, 8,7
- T 0

pl -35.22+ 0.00

-1 nui 24ve+04 / 25
4215+ 0.0

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 11
= T po

-
pl -36.85+ 0.00

nuiLa11e+ud / 25
4276+ 0.0

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 8, 15

X~ nar )5545 125
- p0 4239+ 0.0
pl 35+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5,9,0)
T A

w " ws04/25
- po 4230+ 0.0
pL -36.64 + 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 9, 4

S 7 wuz8 125
po 4215+ 0.0
p1 -36.58:+ 0.00

- C 7
= T
TP delay [ns]
TVC(c,b,ch)=(5,9, 8

T L, r3pe+u4 / 25
PO 4219+ 0.0
pl -35.02+ 0.00

1
50 00

TP delay [ns]

TVC(c,b,ch)=(5, 9, 12

T rnuiLgule+u4 / 25
po 4244+ 0.0
pl -35.97 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5,9,1)
T A

S T s/ 25
e, po 4228+ 0.0
pL -36.76  0.00

TP delay [ns]

TVC(c,b,ch)=(5, 9,5

S 1910125
== po 4223+ 0.0
pl -36.06 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 9,9

~ 1 nug yoye+ud / 25
= po 4239+ 0.0
-34.53 0.00

I C =28.96 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b,ch)=(5, 9, 13

= po

S 531 /25
4245+ 0.0
p1 -36.23+ 0.00

4000 e
3000
2000

1000

TVC(c,b,ch)=(5, 9, 2)
T X

S 7 yanl /25
po 4233+ 0.0
p1 -36.95 + 0.00

0 5(') 10'0 £
TP delay [ns]
TVC(c,b,ch)=(5, 9, 6)

; X~ 1 nuiL Ob3e+u4 / 25
4000 [, po 4244+ 0.0
pl -37.43+ 0.00

a000f ]

2000 -— _-

1000:— C=26.71 [pS/C _

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 9, 10

4000 [
3000 |~

2000~

ol © = 29,71 [ps/ch] ™.

Slnu 1lre+ud |25
po 4240 0.0
p1 -33.66+ 0.00

0

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 9, 14

4000 [,
3000~

2000~

Sruae 7 y101/25
po 4229+ 0.0
pl -34.21+ 0.00

TP delay [ns]

1000:— C =29.23 [pS/Ch]

50

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5, 9, 3)
T A

S 7 yar5/25
po 4253+ 0.0
pL -37.23 0.00

TP delay [ns]

TVC(c,b,ch)=(5,9,7

= 1 nui Ivge+ud / 25
= po 4251+ 0.0
-37.3+ 0.0

1
50 00

TP delay [ns]

TVC(c,b,ch)=(5, 9, 11

- rnun 1 .4ye+04 [ 25
e po 4248 + 0.0
pl -34.54+ 0.00

[ C =28.95[ps/ch]

1
50 00

TP delay [ns]

TVC(c,b,ch)=(5, 9, 15

- ulse+ud [ 25
- po 4249+ 0.0
p1 -35.53 + 0.00

TP

PR
100

delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(5, 10,0)
T A

w7 5309 /25
PO 4160+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 10, 4

= 1 nurLuuBe+u4 / 25
po 4212+ 0.0
p1 -35.29+ 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 10, 8

© g, rype+u4 | 25
Po 4220+ 0.0
pl -36.42+ 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 10, 12

- a1 uoe+ud [ 25
po 4248+ 0.0
pl -36.56 + 0.00

PR B
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5, 10, 1)
T A

S 709/ 25
-, PO 4186+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 10, 5

nut 9559 /25
Y 4206+ 0.0
pl -35.09+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 9

~ 1 nug, r5ze+u4 /25
po 4241% 0.0
pl -36.43 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 5, 10, 13

Tinuizole+ud [ 25
4258+ 0.0
-36.1+ 0.0

PR BRSNS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000
2000

1000

TVC(c,b,ch)=(5, 10, 2)
T A

8525025
= po 4180+ 0.0
I pl -34.94 + 0.00

- C = 28.62 [ps/ch

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 6

u 8568 /25
- po 4228+ 0.0
I pl -36.58 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 10

“ oz anie+ud /25
- po 4266+ 0.0
r pl -37.33+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 5, 10, 14

T zose+ud [ 25
F 4251+ 0.0
F -36.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(5, 10, 3)
T A

S wys0/ 25
PO 4186+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 5, 10, 7

X~ 1 i 23ye+u4 | 25
po 4234+ 0.0
p1 -35.74 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(5, 10, 11

T nuia10e+04 / 25
po 4259+ 0.0
-35.9 + 0.0

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 5, 10, 15

Sona o y1va 25
PO 4230+ 0.0
pl -35.74 + 0.00

P IR S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(5, 11,0)

T X sa9/25
. po 4166+ 0.0
-33.71+ 0.00

[ C =29.66 [ps/ch]

| 1
50 100

TP delay [ns]

TVC(cbch) (5, 11 4)

- 1L 118e+04 / 25
- pO 4227+ 0.0
p1 -35.54 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 11 8

1 nuiz 139e+04 / 25

e, po 4225+ 0.0
pl -36.76+ 0.00

TP delay [ns]

TVC(cbch) (5,11, 12

X~ 1 183e+04 /25
= po 4239+ 0.0
p1 -36.7+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5, ;I.l 1)

9y16 /25
4179+ 0.0
-33.58 + 0.00

s

- PO

p1

[ C =29.78 [ps/ch]

1 1
50 100

TP delay

TVC(cbch) (5 11,5

F- pO

[ns]

- nui 153e+04 / 25
4218+ 0.0
pl -36.02 + 0.00

TP delay

TVC(cbch) (5, 11 9

e, po

[ns]

T nug. rbze+ud [ 25
4245+ 0.0
pl -35.49 + 0.00

TP delay

TVC(cbch) (511,13

= po

[ns]

T inui1sse+ud [ 25
4236+ 0.0
pl -36.76 + 0.00

TP delay

[ns]

TVC(cbch) (5 11,2

ar

2000 e po

pl

)

3000

2000~

wol ¢ = 29.98 [ps/ch]

8749/25
4186+ 0.0
-33.35+ 0.00

1
50 100

TP delay

TVC(cbch) (5 11,6

4000 e, pO

p1

[ns]

T zo/e+u4 [ 25
4237+ 0.0
-36.93 + 0.00

3000~

2000~

wol C = 27.08 [ps/ch

TP delay

TVC(cbch) (5,11, 10

4000 [

[ns]

X~ 1nuiLpre+u4 /25
po 4250+ 0.0
pl -35.08 + 0.00

3000
2000

1000

TP delay

TVC(cbch) (5.11, 14

PRI

4000 pD

[ns]

- be+U4 /25
4227+ 0.0
pl -35.46 + 0.00

3000
2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11,3)

i

AT v1u0 /25
== po 4185+ 0.0
pl -33.25+ 0.00
[ C=30.07 [ps/ch] ». ]
TP delay [ns]

TVC(cbch) (511,7

- pO

-1 nui 4b8e+04 / 25
4250+ 0.0
pl -36.54 + 0.00

TP delay

TVC(cbch) (511,11

e pO

[ns]

T nuiLz1ve+u4 / 25
4252+ 0.0
pl -35.83+ 0.00

TP delay

TVC(cbch) (5,11, 15

[ns]

T inuiLusie+ud / 25
4225+ 0.0
p1 -35.38 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(cbch) (5,12,0)

X 1 ‘void /25
[, po 4183+ 0.0
p1 34.8+ 0.0

TP delay [ns]

TVC(cbch) (5.12,4

- 15 7e+04/ 25
P, pO 4204+ 0.0
pl -36.94 + 0.00

TP delay [ns]

TVC(cbch) (5, 12 8

T rnuiL431e+u4 / 25
= PD 4200+ 0.0
pl -36.23 + 0.00

TP delay [ns]

TVC(cbch) (512,12

T rnuiLusse+u4 / 25
4215+ 0.0
-36.11 + 0.00

PR B SRS |
50 100

TP delay [ns]

TVC(cbch) (5,12,1)

3000

2000

1000

Srnar v 25
4000 fFm,, PO 4219+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (5,125

4000

3000

2000 -

1000 [~

Cnu11/e+04 /25
DU 4207+ 0.0
pL -36.43 + 0.00

TP delay [ns]

TVC(c,b ch) (5,12,9

4000

3000 -

2000 -

1000 [~

T nug 10be+u4 / 25
= 4214+ 0.0
-36.6 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (512,13

4000 [,

3000

2000

1000

- 1L uybe+u4 / 25
= PO 4197 0.0
pl -35.6 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 =,
3000
2000

1000

TVC(c,b,ch)=(5, 12, 2)

T LAl vrv9/25
- po 4193+ 0.0
L pl -34.08+ 0.00
FC =29.34 [psich™, ]

1
50 100

TP delay [ns]

TVC(cbch) (5.12,6

- rnuiL1p1e+u4 / 25
- PO 4209+ 0.0
I pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (5, 12 10

© L, rebe+u4 / 25
DO 4241+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (5.12, 14

~ 1 nuiLuyse+u4 / 25
PD 4200+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,12,3)

S weil 25
- PO 4196+ 0.0
pl 3562+ 0.00

TP delay [ns]

TVC(c, bch) (5,127

- nun 3r9e+u4 / 25
4220+ 0.0
-36.7 + 0.0

50 1(;0
TP delay [ns]

TVC(cbch) (512,11

T nuis3/e+u4 /25
- pO 4236+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (512,15

= T naizuae+ud [ 25
PO 4205+ 0.0
-35.42+ 0.00

TP delay [ns]



TVC(CbCh) (5, 13 0)

4000

3000

2000

1000

1 nuiz,uase+u4 [ 25
- pO 4291 0.0
p1 -37.25+ 0.00

TP delay [ns]

TVC(Cbch) (5, 13 4

4000

3000

2000

1000

- rnuiL0Zzze+u4 [ 25
Facse po 4230+ 0.0
pl -36.38 + 0.00

50 5
TP delay [ns]

TVC(c,b,ch)=(5, 13, 8

4000

3000

2000

1000

b, ,13,8)
: x-rmwuz59725
— po 4269+ 0.0
pl -34.22+ 0.00

[ C=29.22 [ps/ch] ™,

0

1
50 00

TP delay [ns]

TVC(Cbch) (5, 13 12

4000

3000

2000

1000

~rnuiLuyse+u4 / 25
- po 4235+ 0.0
pl -35.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5, 13 1)

- 1. ubse+ud | 25
- pO 4283+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 13 5

w7 gus7/25
— pO 4217+ 0.0
p1 -36.09+ 0.00

50 105
TP delay [ns]

TVC(eb.oh)=(5, 13,9

- s udve+ud | 25
- pO 4304% 0.0
pL -35.89+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 13 13

T nuiLusbe+ud / 25
- pO 4239+ 0.0
pl -35.32+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,13,2)

X~ 1w, 144e+04 [ 25
- po 4299+ 0.0
[ p1 -37.59+ 0.00

3000

TP delay [ns]

TVC(Cbch) (5, 13 6

-1 11ve+u4 / 25
pO 4248+ 0.0
p1 -37.25+ 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

T 1nuiLa45e+04 / 25
- po 4316+ 0.0
r p1 -35.28+ 0.00

- C = 28.35 [ps/ch]

1
50 100

TP delay [ns]

TVC(CbCh) (5, 13 14

T 1oze+04 / 25
- pD 4244+ 0.0
[ pl -35.48+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

po 4309+ 0.0
pL -36.74+ 0.00

A1 L se+ud [ 25

TP delay [ns]

TVC(c,b Ch) (5, 13 7

- pO
p1

]

-1 nui 190e+04 / 25
4260+ 0.0
-37.33% 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 13, 1)

ar bBb6 / 25

- pO

4319+ 0.0
35.15+ 0.00

[ C =28.45 [ps/ch]

1
50 00

TP delay [ns]

TVC(cbch) (5, 13 15

pL -35.54 + 0.00

- pO

i 120e+U4 [ 25
4252 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

T r1se+u4 [ 25
4240+ 0.0
-36.51+ 0.00

1
50 100

TP delay

TVC(c,b,ch)=(5, 14, 4

ur

pO

[ns]

. 4)
X- 9909 /25
4245+ 0.0
pl -36.22:+ 0.00

TP delay

TVC(cbch) (5, 14 8

[ns]

©1nuiz.a40e+04 | 25
4205+ 0.0
-35.4 + 0.0

TP delay

TVC(cbch) (5,14, 12

- pO

[ns]

TrnaiLzzie+04 /25
4285+ 0.0
pl -37.44+ 0.00

PR B SRS |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,14,1)

P PO

p1

AT 1L s3oe+ud [ 25
4233+ 0.0
-35.64 + 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (5,145

[, pO

-1 nuiLuzye+u4 / 25
4256+ 0.0
-36.99 + 0.00

TP delay [ns]

TVC(c, bch) (5, 14 9

e, po

pl

~ 1 nun.yloe+ud / 25
4236+ 0.0
-34.87 + 0.00

TP delay [ns]

TVC(cbch) (5.14,13

bee, pO
p1

T nui szoe+ud 25
4271+ 0.0
-36.27 + 0.00

TP delay [ns]

TVC(CbCh) (5, 14 2)

4000 [y PO

pl

3000 =

2000

wol- C = 28.07 [ps/ch

TrnuiLyrie+u4 /25
4243+ 0.0
-35.63+ 0.00

= ]

1
50 100

TP delay

TVC(cbch) (5.14,6

4000 [, pO

p1

[ns]

© i 115e+04 / 25
4250+ 0.0
-35.92 + 0.00

3000~

2000~

wol C = 27.84 [ps/ch

TP delay

TVC(cbch) (5, 14 10

©1nuiLylpe+u4 / 25
4238+ 0.0
p1 -34.77 + 0.00

4000 [

pO

[ns]

3000
2000

1000

TP delay

TVC(cbch) (5. 14,14

4000 jm, pD

[ns]

T rnuiLgule+ud / 25
4260+ 0.0
pl -36.15+ 0.00

3000
2000

1000

TP delay

[ns]

TVC(Cbch) (5,14,3)

4000 fwm

AT 1 nuzzole+ud [ 25
po 4235+ 0.0
p1 -34.88 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c, bch) (5,14, 7

4000 fm pO

- i zy/e+u4 [ 25
4278+ 0.0
pl -36.08 + 0.00

3000 -

2000 -

w00 C = 27.72 [ps/ch

TP delay [ns]

TVC(eh.eh)=(5, 14, 11)

4000 [ue.

1 nun 1.a4e+04 [ 25
pO 4236+ 0.0
-34.7+ 0.0

3000

2000

1000

TP delay [ns]

TVC(cbch) (514,15

4000 fum po

Tinaizy/e+ud [ 25
4264+ 0.0
p1 -35.93+ 0.00

3000

2000

1000

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 15 0)

T 1ioe+ud /25
Frcea 4199+ 0.0
-37.11+ 0.00

TP delay [ns]

TVC(cbch) (5,154

-1 nuiL104e+04 / 25

k. pO 4195+ 0.0
p1 -35.76+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 15 8

1 nuiz yose+ud | 25

= pO 4222+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (5,15, 12

T rnuiz41ve+u4 / 25
pO 4223+ 0.0
pl -34.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

AT 1nun L 1oe+ud [ 25
Foase po 4184+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(cbch) (5,155

-/ nui191e+u4 / 25
pO 4205+ 0.0
pL -35.72:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 15

-1 nui ggYe+ud 25
- pO 4246+ 0.0
pl -37.28 + 0.00

TP delay [ns]

TVC(cbch) (5.15,13

Tinuzs1/e+ud [ 25
- pO 4224+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5,15,2)

TP delay [ns]

TVC(cbch) (5.15,6

A7 1 nui4zqe+04 /25
_=_ po 4209+ 0.0
o pl -36.67 + 0.00

3000

T4l /e+u4 /25
- pO 4217+ 0.0
[ pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (5. 15, 10

1000

0

© 1 nuiLyzve+u4 | 25
- po 4245+ 0.0
o pl -36.62+ 0.00

TP delay [ns]

TVC(cbch) (5. 15, 14

~1nuizuzde+u4 | 25
[F-e. pD 4233+ 0.0
L p1 -37.55+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

AT 1 nuiLoube+ud [ 25

po 4212+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c, bch) (5,15, 7

- rnu b3/e+04 / 25
- pO 4214+ 0.0
pL -35.91% 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (5, 15 1

T inuiLas/e+ud [ 25
- pO 4254+ 0.0
pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (515,15

T inuizyrze+ud [ 25
- po 4220+ 0.0
p1 -35.34+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

K™ 1 nuiquze+u4 /25
P po 4149+ 0.0
p1 -34.04 + 0.00

TP delay [ns]

TVC(cbch) (60,4

-, (z1e+04 ] 25
o, pO 4169+ 0.0
pl -34.01+ 0.00

[ C =29.41 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 0,8

T rnuigyale+u4 / 25
[oane PD 4176+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(cbch) (6,0,12

Tz usie+ud | 25
S po 4207+ 0.0
pl -35.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1

AT 1L oyse+ud [ 25
e po 4165+ 0.0
pl -35.5+ 0.0

TP delay [ns]

TVC(c,b ch) (6 0,5

-1 Uz buye+ud / 25
4180+ 0.0
-35.5 % 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 0,9

T nuiL zgbe+u5 / 25
P pO 4196+ 0.0
pl -36.59 + 0.00

TP delay [ns]

TVC(C, bch) (6,0,13

T inuiLyrae+ud [ 25
E. pO 4202+ 0.0
pl -35.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.65 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

A7 1 nun osse+u4 /25
Fouse po 4170+ 0.0
o pl -349+ 0.0

-, {01e+04 ] 25
Freee, pO 4197+ 0.0
L pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (6, 0 10

1 nuip,bobe+u4 / 25
- po 4215+ 0.0
- pl -35.88 + 0.00

TP delay [ns]

TVC(cbch) (6,0,14

~ 1 nuiLyoye+u4 / 25
E. pD 4198+ 0.0
L pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

AT 1 nuiLbloe+ud /25
s po 4185+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

-1 nu 24pe+04 / 25
o, pO 4203+ 0.0
pL -34.77  0.00

[ C =28.76 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (6, O

ERALECY 4bze+u4/25
4220+ 0.0
-35.7+ 0.0

TP delay [ns]

TVC(C, bch) (6,0,15

L
=]
5}

TinuiLyise+ud [ 25
4213+ 0.0
p1 -35.94 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

AT 1nui 1zye+04 /25
po 4175+ 0.0
p1 -36.94 + 0.00

TP delay [ns]

TVC(cbch) (6.1,4

- 321404/ 25
pO 4177+ 0.0
p1 -34.26+ 0.00

TP delay [ns]

TVC(cbch) (6 1,8

T L bsse+U4 / 25
4198+ 0.0
-34.61+ 0.00

TP delay [ns]

TVC(cbch) (61,12

T sive+u4 / 25
= po 4198+ 0.0
pl -35.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

AT rnuiiyie+ud [ 25
1 e po 4195+ 0.0
pl -37.45+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

— -1 nuz.0aye+u4 [ 25
E pO 4161% 0.0
p1 -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

< flaye+ud | 25
- pO 4231+ 0.0
pL -34.87 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, l 13

— T nui sbze+ud / 25
= pO 4192+ 0.0
pl -35.55+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (6,1,2)

A7 1 nui zove+U4 / 25
Foae po 4210+ 0.0
L pl -37.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

- rnuz.4z0e+04 [ 25
4197+ 0.0
-36.1+ 0.0

TP delay [ns]

TVC(cbch) (6, 1 10

T nuzg1oe+u4 / 25
- po 4244+ 0.0
- pl -35.56 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

T rnuiLgnse+ud [ 25
4191+ 0.0
-35.11+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3

AT 1 nuiLzyoe+ud [ 25
po 4194+ 0.0
pl -37.45+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

-1 nu 1b4e+04 / 25
- pO 4191+ 0.0
p1 -34.79+ 0.00

TP delay [ns]

TVC(c,b ch) (6, l

T asue+u4/25
= pO 4254+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 1 15

- T nui suse+u4 25
pO 4198+ 0.0
p1 -35.68 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,0

X~ 1L bobe+U4 / 25
o po 4199+ 0.0
p1 -37.45+ 0.00

TP delay [ns]

TVC(cbch) (62,4

-1 45ae+04 / 25
— pO 4214+ 0.0
p1 -35.91+ 0.00

- C =
1 1 "
50 100
TP delay [ns]
TVC(cbch) (6,2,8)
-1 bysbe+ud / 25
e po 4220+ 0.0
pl -35.03+ 0.00

TP delay [ns]

TVC(cbch) (6,212

T, r1ve+u4 / 25
pO 4212+ 0.0
pl -34.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1

A7 1 nuiLbsze+u4 [ 25
e po 4209+ 0.0
p1 -36.08 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

~nuiL4/3e+04 [ 25
4219+ 0.0
-36.2+ 0.0

50 150
TP delay [ns]

TVC(eb,oh)=(6, 2,9

Tana g/ /e+ud [ 25
pO 4263+ 0.0
p1 -37.06 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 2 13

T nuiasae+ud [ 25
pO 4238+ 0.0
p1 -36.63+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,2,2)

X~ 1L bz1e+U4 [ 25
Fe, po 4208+ 0.0
[ p1 -35.44 £ 0.00

3000

TP delay [ns]

TVC(cbch) (62,6

T L by e+u4 / 25
- pO 4235+ 0.0
- pl -35.79 + 0.00

3000

TP delay [ns]

TVC(CbCh) (6, 2 10

1000

-1z sh3e+ud | 25
- pO 4264+ 0.0
[ pl -35.913 0.00

3000

TP delay [ns]

TVC(cbch) (6,2 14

S 57se+u4 [ 25
- pD 4225+ 0.0
[ pl -35.39+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3)

A~ 1 nuiL, 73ye+ud [ 25
po 4213+ 0.0
pL -36.5+ 0.0

TP delay [ns]

TVC(c,b ch) (6 2,7

- 1nuib3/e+u4 / 25
pO 4249+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(eheh)=(6, 2,

= quﬂm/zs
- pO 4276+ 0.0
p1 -36.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 2 15

- i slge+ud [ 25
e, pO 4244 0.0
p1 -35.8 £ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0

K- 1nuizz1e+04 /25
Fre po 4196+ 0.0
p1 -36.72:+ 0.00

TP delay [ns]

TVC(cbch) (6.3,4

Srnu 1se+u4 /25
Flcee po 4230+ 0.0
pl -37.5+ 0.0

I C =26.67 [ps/c 7

50 5
TP delay [ns]

TVC(cbch) (6 3,8

i bare+ud [ 25
- po 4236+ 0.0
p1 -36.04 + 0.00

TP delay [ns]

TVC(Cbch) (6, 3 12

- 1 7ae+ud [ 25
po 4236+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

A1 Lave+Ud | 25
Frase po 4202+ 0.0
pL -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

= nun 1730e+04 /25
Fuces po 4233+ 0.0
pl -36.47 + 0.00

50 105
TP delay [ns]

TVC(c,b ch) (6 3,9

T inai143e+04 / 25
- pO 4254+ 0.0
-35.5+ 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 3 13

~ 1 nuiLpuse+ud / 25
= pO 4223+ 0.0
pl -35.12+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (6,3,2)

A1 za3e+04 [ 25
Fonas, po 4214+ 0.0
[ p1 -36.78 + 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

T rnunL331e+04 / 25
- pO 4237+ 0.0
[ p1 -36.18+ 0.00

3000

TP delay [ns]

TVC(eb,ch)=(6, 3, 10

- a2, 0oe+u4 [ 25
__ DO 4282+ 0.0
i pl -35.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,3 14

S o7 e+u4 [ 25
4226+ 0.0
-36.2+ 0.0

P R TR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

AT 1nuiLLrze+u4 [ 25
= po 4217+ 0.0
p1 -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

-1 nui 4z29e+04 / 25
- pO 4248+ 0.0
p1 -35.77+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

T, /abe+u4/25
- po 4262+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3 15

1 nui ozoe+ud / 25
e pO 4242+ 0.0
p1 -36.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

i

TVC(c,b,ch)=(6,4,0)
T r

8930/ 25
4198+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,4

)

rnar” s4z9 /25

-34.1£ 0.0

- p0 4186+ 0.0
pl
[ C=29.32 [ps/ch]™_ ]
% T
TP delay [ns]
TVC(cbch) (6 4,8
= pO

©1nuiLyyze+u4 | 25
4190+ 0.0
-35.59 + 0.00

TP delay [ns]

TVC(cbch) (64,12

~rnuiLyose+u4 / 25
4222+ 0.0
-33.6 + 0.0

[ C =29.76 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1)

- po

AT 1 nuLUbze+ud [ 25
4177+ 0.0
-35.49 + 0.00

pl

TP delay [ns]

TVC(cbch) (64,5

nut

Y135/ 25
4185+ 0.0
-34.86 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

= pO

pl

~ 1 nug ozbe+ud / 25
4209+ 0.0
-35.23 + 0.00

TP delay [ns]

TVC(C, bch) (64,13

e, pO
p1

T inai1zye+ud [ 25
4221+ 0.0
-34.69+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

nu

- DO

o v/ol/25
4191+ 0.0
pl -36.16 + 0.00

TP delay

TVC(cbch) (64,6

pO
pl

[ns]

- 1L Ub4e+u4 / 25
4189+ 0.0
-35.34 + 0.00

TP delay

TVC(cbch) (6, 4 10

pO

[ns]

© oL sZ/e+04 [ 25
4241+ 0.0
pl -34.88 + 0.00

TP delay

TVC(cbch) (64,14

- PD

[ns]

~rnuiLguse+u4 / 25
4229+ 0.0
-33.72+ 0.00

- C = 29.65 [ps/ch]

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3)

e

- po
pl

Y8 / 25
4206+ 0.0
-35.74+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 4,7

SRATE

11.1b4e+04 / 25
4201+ 0.0
-34.9+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (6,4,

X~ 1

L. zbze+u4 125
4227+ 0.0
-33.9+ 0.0

[ C=29.49 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (64,15

T nuiLusse+ud [ 25
4225+ 0.0
-34.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(6,5,0)

. Ko T yas7/25
[Fones, po 4204+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (65,4

T, r3ze+04 | 25
Fome, pO 4198+ 0.0
pl -34.16 + 0.00

[ C =29.27 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

©rnuiLpl/e+u4 [ 25
4217+ 0.0
-35.8 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (6,5,12

e Lbe+ud /25
= po 4227+ 0.0
pl -35.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51

A1 0sre+ud [ 25
[, po 4215+ 0.0
pl -35.68 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

© U 243e+04 / 25
- 4195+ 0.0
-34+ 0.0

[ C =29.41 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

-1 nu.Ugye+ud / 25
- DO 4215+ 0.0
pl -35.29 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,13

T inuiLnoe+ud [ 25
4250+ 0.0
-36.11 + 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,52)

X~ 1L usse+U4 [ 25
Faase. po 4226+ 0.0
I pl -36.48 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,56

T nug.zy4e+04 [ 25
== pO 4210+ 0.0
[ PL_ -34.12%0.00

- C =29.31 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

1 nuzpobe+ud / 25
4243+ 0.0
-35.7 + 0.0

TP delay [ns]

TVC(cbch) (6,5,14

T nuiLb41e+04 /25
= po 4222+ 0.0
I pl -35.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3)

- Cuterud /25
- PO 4212+ 0.0
pl -34.85+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

~ g ubae+ud [ 25
- PO 4211£ 0.0
Pl 3505000

TP delay [ns]

TVC(c,b ch) (6, 5

T nan aaze+u4/25
- pO 4249+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

T 48oe+U4 [ 25
- pO 4236+ 0.0
pl -36.07 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

K™ nui zyze+V4 /25
4198+ 0.0
-35.41+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (66,4

Srnae  yss2/25
e pO 4183+ 0.0
pl -35.03+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (6, 6 8

©1nuiLyyse+u4 / 25
po 4218+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (6,6,12

i poe+u4 / 25
pO 4235+ 0.0
pl -35.78+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1

AT 1 nuLosye+ud [ 25
- po 4208+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

“nu Z3/e+04 [ 25
4208+ 0.0
-36.3 % 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 6,9

~ 1 nuip4ve+u4 [ 25
pO 4250+ 0.0
-34.91+ 0.00

TP delay [ns]

TVC(C, bch) (6,6,13

Tinuisbre+ud [ 25
pO 4227+ 0.0
pl -35.63+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,6,2)

A~ 1nuiLoroe+u4 /25
P, po 4203+ 0.0
L pl -35.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (66,6

- 1 nuiL140e+04 / 25
Frnee po 4196+ 0.0
[ pl -35.46 + 0.00

3000

TP delay [ns]

TVC(cbch) (6, 6 10

1000

T nuzp4e+04 [ 25
- po 4261+ 0.0
- pl -35.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,614

T siie+ud /25
-, pD 4224+ 0.0
L pl -35.48 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3)

AT rnuiLbrse+ud /25
po 4216+ 0.0
p1 -35.42+ 0.00

C =28.23 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (6 6,7

Crnan 127404 125
- pO 4208+ 0.0
pL -35.89+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 6

T, 1b4e+u4/25
- po 4257+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(C, bch) (6,6, 15

T inui4r0e+u4 /25
= pO 4239+ 0.0
p1 -36.15+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0)

T Luse+ud /25
4187+ 0.0
-35.44 + 0.00

TP delay [ns]

TVC(cbch) (67,4

pO
pL

T i 131e+04 /25
4200+ 0.0
-34.72+ 0.00

% T
TP delay [ns]
TVC(cbch) (6 7,8
= po

T 3.30e+u4 /25
4209+ 0.0
-35.96 + 0.00

TP delay [ns]

TVC(cbch) (6,7, 12

A1,

e, po
p1

123e+U4 125
4255+ 0.0
-36.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1)

e, po

p1

AT 1L zeoe+ud [ 25
4211+ 0.0
-36.67 + 0.00

TVC(c,b ch) (6 7,5

[P, DU
pl

1
100

TP delay [ns]

=11 3bbe+u4 / 25
4211+ 0.0
-35.31+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 7,9

e, po

T nuiL319e+U5 / 25
4228+ 0.0
-36.44+ 0.00

pl

TP delay [ns]

TVC(C, bch) (67,13

T inai sz1e+ud [ 25
4249+ 0.0
-37.18+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,7,2)

e, po

K™ 1 nui1yoe+u4 /25
4217+ 0.0
pl -36.25+ 0.00

TP delay

TVC(cbch) (67,6

== po

p1

[ns]

= 1 nur boye+u4 [ 25
4219+ 0.0
-35.03 + 0.00

TP delay

TVC(cbch) (6, 7 10

1000

0

= o

[ns]

T nuzbole+ud [ 25
4253+ 0.0
pl -37.11+ 0.00

TP delay

TVC(cbch) (6,7,14

1000

F= b
pl

[ns]

~ i psze+u4 [ 25
4253+ 0.0
-36.5+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3)

po
pL

AT 1L sose+ud [ 25
4216+ 0.0
-35.51+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 7,7

pO
pl

- nui brye+u4 [ 25

4218+ 0.0
-34.51+ 0.00

[ C =28.97 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (6, 7

e pO

EEALEVX u19e+u4/25
4262+ 0.0
-37.49 % 0.00

pl

TP delay [ns]

TVC(C, bch) (67,15

T inuip4/e+04 /25
4263+ 0.0
-36.72+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0

K71 nuiz4o0e+04 / 25
- po 4183+ 0.0
p1 -34.9+ 0.0

TP delay [ns]

TVC(cbch) (6,84

- i 333e+04 / 25
e, pO 4269+ 0.0
pl -38.88:+ 0.00

TP delay [ns]

TVC(cbch) (6 8,8

© i 1ooe+U4 / 25
= po 4213+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (6,812

Sina 7 9180/ 25
e, po 4222+ 0.0
pl -35.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

AT 1 nuzoroe+ud [ 25

Foase po 4181+ 0.0
p1 -34.75+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

L pO

- nui 31be+04 / 25

2]

4252+ 0.0
-37.7+ 0.0

TP delay [ns]

TVC(c,b ch) (6 8,9

~ 1 nuiz 3ope+ud / 25

o

4222+ 0.0

TP delay [ns]

TVC(C, bch) (6.8,13

Srna 7 uss3/25
foe, po 4235+ 0.0
pl -36.11:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,8,2)

- C = 28.54 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (68,6

A~ 1 nuiz.4uoe+u4 /25
P, po 4205+ 0.0
- pl -35.04 + 0.00

Tz ye+u4 [ 25
- pO 4263+ 0.0
[ pl -38.18+ 0.00

TP delay [ns]

TVC(cbch) (6, 8 10

T rnuiLy4le+u4 / 25
- po 4254+ 0.0
- pl -35.29+ 0.00

TP delay [ns]

TVC(CbCh) (6, 8 14)

Srua* ysad /25
- pD 4222+ 0.0
L p1 -34.71+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

pO

pl

T nunz.ave+ud [ 25
4208+ 0.0
-35.75+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 8,7

p==. pO
pl

=1 nui 4pbe+04 / 25
4283+ 0.0
-37.93+ 0.00

100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

RIS za5e+u4/25
4260+ 0.0
-35.05+ 0.00

TP delay [ns]

TVC(C, bch) (6,815

T nai11ae+ud [ 25
4232+ 0.0
-35.15+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0

AT 1nui310e+04 /25
Focea po 4214+ 0.0
pl -36.64 + 0.00

TP delay [ns]

TVC(cbch) (69,4

- i Z58e+04 | 25
[, pO 4237+ 0.0
pl -35.22+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 9,8

- rnuzziie+ud | 25
- pD 42213 0.0
-35.1+ 0.0

TP delay [ns]

TVC(cbch) (6,9,12

© 1L usse+u4 / 25
= po 4239+ 0.0
pl -34.13+ 0.00

[ C =29.30 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1

AT rnuiLibie+ud /25
Fraee po 4219+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

“nuiz2y/e+u4 [ 25
pO 4251+ 0.0
pL -35.86+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 9,9

<1 nu. 1bbe+ud / 25
- po 4233+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(C, bch) (6,9,13

Tinaizsie+ud [ 25
4235+ 0.0
-35.31+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,9,2)

TP delay [ns]

TVC(cbch) (69,6

A~ 1nui4rve+04 /25
_-_ po 4237+ 0.0
o pl -37.68+ 0.00

3000

= 1 nur bobe+u4 [ 25
- pO 4259+ 0.0
[ pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (6, 9 10

1000

T z.goe+u4 /25
- po 4261+ 0.0
L -36.2 + 0.0

TP delay [ns]

TVC(cbch) (6,9,14

1000

T gL/e+u4 /25
. pD 4249+ 0.0
L pl -36.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3)

T Lsre+ud /25
o= pO 4242+ 0.0
pl -37.17+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

- nui br4e+04 / 25
- pO 4276+ 0.0
-36.8+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 9

T b‘J/e+U4/25
- po 4272+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(C, bch) (69,15

T nai zgoe+ud [ 25
- pO 4258+ 0.0
p1 -36.62+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

T e+l /25
F.... pO 4205+ 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(Cbch) (6, 10 4

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 10,8

- i zoze+u4 [ 25
k. pO 4214+ 0.0
p1 -36.83+ 0.00
-
-
-
1

1 nuiL zg3e+u4 | 25

- po 4219+ 0.0
p1 -37+ 0.0

TP delay [ns]

TVC(c,b ch) (6, 10 12

~ i Lole+ud [ 25
= po 4228+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(chh) (6, 10 1)

- 1 nuiLugabe+ud [ 25
4207+ 0.0
-36.18 + 0.00
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pL -35.07+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 12 13

Tinaii41e+u4 /25
pO 4223+ 0.0
pl -34.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,12,2)

- C = 29.67 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b ch) (6, 12 6

A I'U'lule+u4/25
_l'_ po 4189+ 0.0
[ p1 -33.7+ 0.0

-1 388e+04 / 25
F pO 4220+ 0.0
[ p1 -36.92+ 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

- i gube+ud | 25
- pO 4241% 0.0
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pl -35.51+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 1

[ C =28.90 [ps/ch]

1 nuis obbe+ud / 25
po 4236+ 0.0
-34.6 £ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7.1,13

~inun 1 ove+ud [ 25
pO 4220+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (7,1,2)

4000

2000

1000

A7 1 nui ouse+u4 / 25
Fuse po 4191+ 0.0
L pl -36.65+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,1,6

4000

3000

2000

1000

- i z3ge+u4 [ 25
P po 4230+ 0.0
[ pl -35.76 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 1, 10

4000

3000

2000

1000

- C = 29.94 [ps/ch] ™. 1

©1nuizysze+u4 | 25
_- DO 4248+ 0.0
- -33.4+ 0.0

b

1
50 100

TP delay [ns]

TVC(cbch) (7.1,14

4000

2000

1000

T, 48e+04 [ 25
. pD 4224+ 0.0
L pl -35.85+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,3

AT 1 nuiLsyoe+ud [ 25
- po 4220+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(c,b ch) (7 1,7

- nun 3z23e+04 / 25
- pO 4237+ 0.0
-36:+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 1

[ C=28.77 [ps/ch]

1)
Tonan 1 /be+ud | 25
- pO 4261+ 0.0
-34.76 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7.1,15

T inuiplye+ud [ 25
e pO 4227+ 0.0
p1 -35.3+ 0.0

TP delay [ns]



TVC(cbch) (7,2,0)

4000

3000

2000

1000

T Luae+ud /25
pO 4205+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (72,4

4000

3000

2000

1000

- i bbae+ud / 25
o, pO 4184+ 0.0
pl -35.32:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7,2,8

4000

3000

2000

1000

0

T a1 /e+u4 [ 25
4231+ 0.0
-37.51+ 0.00

0

TP delay [ns]

TVC(cbch) (7,212

4000

3000

2000

1000

T4 e+04 /25
- po 4213+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,1)

“nunLa4e+04 /25
Foase pO 4189+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

“nu rz1e+04 / 25
o pO 4204+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

-1 nuig byve+ud / 25
= po 4236+ 0.0
pl -35.52 + 0.00

TP delay [ns]

TVC(C, bch) (7.2,13

T inaibzse+ud [ 25
- pO 4211+ 0.0
pl -35.87+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,2,2)

K™ 1nuilple+u4 /25
_=_ po 4198+ 0.0
L pl -36.6 + 0.0

3000

TP delay [ns]

TVC(cbch) (7,2,6

©1nuiL449e+04 | 25
- pO 4187+ 0.0
- pl -34.59 + 0.00

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

T nuiLyroe+u4 [ 25
= po 4252+ 0.0
L pl -36.84 + 0.00

TP delay [ns]

TVC(cbch) (7,214

T bzse+u4 [ 25
F pD 4224+ 0.0
L p1 -35.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3

AT rnuiLibre+ud [ 25
e, po 4211+ 0.0
pl -36.14+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

- nuiLyr3e+u4 / 25
- pO 4209+ 0.0
pL -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T bd/e+U4/25
= po 4258+ 0.0
pl -37.66 + 0.00

TP delay [ns]

TVC(C, bch) (7.2,15

-1 nui pyze+ud [ 25
- po 4228+ 0.0
p1 -35.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0

AT inuis1ze+04 /25
P po 4184+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(cbch) (7.3,4

L 333e+04 [ 25
P, pO 4177+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (7 3,8

T L ysze+u4 [ 25
4193+ 0.0
-36.23 + 0.00

TP delay [ns]

TVC(cbch) (7,312

T L pyle+u4 / 25
4214+ 0.0
-36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1

x- 1 i Soae+U4 | 25
s po 4194+ 0.0
pL -37.26+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

-1 nu 3zbe+u4 [ 25
o, DU 4187+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

= po

pl

T 1 nu bobe+ud [ 25
4212+ 0.0
-36.79 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,13

= pO

T nuiLayse+ud [ 25
4205+ 0.0
-36.33+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (7,3,2)

K™ 1 nuiosye+ud /25
po 4200+ 0.0
p1 -36.34+ 0.00

TP delay [ns]

TVC(cbch) (73,6

=i bh3e+u4 [ 25
pO 4191 0.0
pl -35.93+ 0.00

-

10‘0
TP delay [ns]

1000

0

TVC(cbch) (7, 3 10

= 90

T rnuzb41e+04 /25
4231+ 0.0
-37.14 + 0.00

pl

TP delay [ns]

TVC(cbch) (7,314

pD
pl

1L bo0e+U4 / 25
4209+ 0.0
-36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,.3,3)

AT rnuiLsase+ud [ 25
po 4200+ 0.0
pl -36.52+ 0.00

TVC(c,b ch) (7 3,7

1
100

TP delay [ns]

-1 nui baze+u4d / 25
pO 4195+ 0.0
p1 -35.44 + 0.00

1(;0
TP delay [ns]

TVC(c,b ch) (7, 3

T 9Ude+l}4/25
4238+ 0.0
-36.8 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (7.3,15

T nuipule+ud / 25
4221+ 0.0
-35.98 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,0)

A1

4vve+u4 | 25
4187+ 0.0
-35.95+ 0.00

TP delay [ns]

TVC(cbch) (7.4,4

= o,

Fraese. PO

338e+04 [ 25
4211+ 0.0
-35.78 + 0.00

TP delay [ns]

TVC(eb.ch)=(7, 4,8

- g,
pO
p1

yzbe+u4 | 25
4212+ 0.0
-34.97 + 0.00

1
100

TP delay [ns]

TVC(cbch) (7,4,12

-1 nug,

zo1e+U4 /25
4216+ 0.0
-36.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (7,4,1)

P PO

p1

A 1L 4o3e+u4 [ 25
4183+ 0.0
-35.21+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,5

-1 nun 48ze+04 [ 25
4213+ 0.0
-35.38 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

- .
- po
pl

145e+U4 | 25
4232+ 0.0
-35.13 + 0.00

TP delay [ns]

TVC(C, bch) (7.4,13

T nuiysze+ud [ 25
4224+ 0.0
-35.48 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (7.4,2)

A1,

[oeee, po

pl

122e+04 125
4191+ 0.0
-35.96 + 0.00

TP delay [ns]

TVC(cbch) (7.4,6

pO
p1

- i b3be+u4 / 25
4224+ 0.0
-36.77 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 4,10

pO

pl

© 1 nuig.48oe+U4 / 25
4248+ 0.0
-34.85+ 0.00

TP delay [ns]

TVC(cbch) (7.4,14

T ryse+u4 | 25
4212+ 0.0
pl -35.84 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,3)

po

pl

AT rnuiLr1ze+ud [ 25
4195+ 0.0
-35.65+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7 4,7

pO
pl

-1 nuz.0gye+u4 / 25
4232+ 0.0
-36.96 + 0.00

100

TP delay [ns]

TVC(c,b ch) (7, 4

1)
T nuizplbe+ud [ 25
4250+ 0.0
-35.2+ 0.0

1
100

TP delay [ns]

TVC(C, bch) (7.4,15

-1 nui ysoe+ud / 25
4233+ 0.0
-37.11+ 0.00

100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0

A7 nun usse+ud / 25
- po 4186+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (7,54

-1 nuiLus4e+u4 / 25
4188+ 0.0
-34.6+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (7 5,8

©1nuiLb3be+u4 / 25
= po 4205+ 0.0
pl -36.52+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,5,12

~ L suse+U4 / 25
= po 4237+ 0.0
p1 -36.6+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51

AT 1L zsoe+ud [ 25
- po 4192+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (7 55

=1 Ui Uobe+u4 / 25
) DO 4209+ 0.0
pl -35.64 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 59

Tinan s ge+ud [ 25
= po 4218+ 0.0
pl -36.88 + 0.00

TP delay [ns]

TVC(C, bch) (7.5,13

T inuigrse+ud [ 25
= pO 4238+ 0.0
pl -36.75+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000

2000

1000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (7,5,2)

Tonan L zse+ud [ 25
e, po 4211+ 0.0
o pl -35.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,56

- C = 28.51 [ps/ch

-1 nuiz249e+04 [ 25
pO 4205+ 0.0
pl -35.08 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7, 5 10

T z.goe+u4 /25
4237+ 0.0
-36.6+ 0.0

TP delay [ns]

TVC(cbch) (7.5,14

~nuiLgsse+u4 [ 25
4241+ 0.0
-37.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,3

AT 1L ssze+ud [ 25
- po 4217+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (7 57

- nuiZ/ye+u4 / 25
- pO 4216+ 0.0
pL -35.39+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 5

T b/‘Je+U4/25
4240+ 0.0
-36.3 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (7.5,15

T nui bzoe+ud [ 25
= po 4226+ 0.0
p1 -35.97 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,0

X~ rz1e+04 /25
[ PO 4226+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (7.6,4

- i 39ve+u4 / 25
Fraese. pO 4205 0.0
pl -35.44  0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 6,8

1 nuiz,0Ype+u4 / 25
- PD 4187+ 0.0
-34.06 + 0.00

I C =29.36 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7,6,12

~ 1 nug,yzye+ud / 25
- po 4201+ 0.0
pl -32.5+ 0.0

[ C =30.77 [ps/ch] ™= ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

AT 1 nuiLo1oe+u4 [ 25
[Fomm po 4228+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

S nun1.3z2e+04 /25
[Fomes, pO 4223+ 0.0
pL -35.87 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

T inuiygsle+ud [ 25
4222+ 0.0
-35.2+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (7.6,13

T zure+u4 [ 25
F po 4234% 0.0
pl -35.42 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000

2000

TVC(cbch) (7,6,2)

AT 1nuiorie+u4 /25
[oase, PO 4222+ 0.0
L pl -35.97 + 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

- i bzge+u4 [ 25
e, pO 4237+ 0.0
3 pl -36.29+ 0.00

TP delay [ns]

TVC(cbch) (7, 6 10

©rnubare+V4 /25
F DO 4247+ 0.0
r pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (7.6,14

1000

“rnuiLg41e+04 /25
DD 4248+ 0.0
-36.64 + 0.00

TP delay [ns]

TVC(cbch) (7,6,3

3000

2000

1000

A~ 1 nuiLblye+u4 / 25
4000 faem,, PO 4239+ 0.0
p1 -36.57 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

3000

2000 -

1000 [~

-1 Yobe+ud [ 25
4000 fo, PO 42512 0.0
Pl 36,67+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 6

4000 o

3000

2000

1000

T nan au4e+u4/25
pO 4235+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(C, bch) (7.6,15

4000 e

3000

2000

1000

“ L goe+ud /25
PO 4239+ 0.0
-35.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

e

TVC(c,b,ch)=(7,7,0)

yobl/ 25
4205+ 0.0
-34.86+ 0.00

TP delay [ns]

TVC(cbch) (7,7,4

nu

v/88/25
4202+ 0.0
-34.89 + 0.00

e PO
pL
- C =
-+ o
TP delay [ns]
TVC(c,b ch) (7, 7 8
= pD

-1 nu Obze+04 [ 25
4215+ 0.0
-35.32+ 0.00

p1

TP delay [ns]

TVC(cbch) (7,7,12

T rnuiLoEe+u4 /25
4222+ 0.0
-37.48+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7.1

A7 1 huiLUbYe+u4 / 25
F.. po 4218+ 0.0
p1 -35.49 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 7,5

- nun 123e+04 / 25
E pO 4213+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVCebeh)=(7,7, 9

-1 nu.yse+ud / 25
= pO 4231+ 0.0
p1 -36.07 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 7 13

T nuipyle+ud / 25
- pO 4221+ 0.0
pl -37.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (7,7,2)

- C = 28.46 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

X~ 1L 1use+u4 [ 25
P po 4217+ 0.0
[ p1 -35.14 + 0.00

T rnuLz/1e+u4 /25
pO 4231 0.0
p1 -36.29+ 0.00

TP delay [ns]

TVC(cbch) (7,7,10

-1 nuiLyzie+u4 [ 25
4238+ 0.0
-36.4 + 0.0

TP delay [ns]

TVC(cbch) (7,7,14

-5 7ye+u4 [ 25
- pD 4219+ 0.0
L p1 -36.79+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,3

A~ 1 nuiL, 1yse+ud | 25
Fovme po 4222+ 0.0
pL -35.42:+ 0.00

[ C =28.24 [ps/ch

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 7,7

S rnan 117e+04 125
- pO 4234+ 0.0
p1 -35.89+ 0.00

TP delay [ns]

TVC(c,b ch) (7,7,

1)
T nuiLa4ne+04 / 25
= pO 4249+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7 15

Tinaiasie+ud [ 25
4220+ 0.0
-37.21+ 0.00

50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,0

AT inuiLsr1e+04 /25
P po 4162+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (7,84

- i 351e+04 / 25
[, pO 4179+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(cbch) (7 8,8

©1nuz5use+u4 / 25
[ PD 4195+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (7,812

T, z1e+04 /25
- po 4207+ 0.0
pl -37.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,1)

“ o 4ye+ud [ 25
s pO 4176+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (7 8,5

=1 nui 4uze+u4 [ 25
4186+ 0.0
-36.1+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 8,9

< (aserud /25
po 4216+ 0.0
pL -35.92:+ 0.00

TP delay [ns]

TVC(C, bch) (7.8,13

~ 1 nui oyse+ud / 25
4213+ 0.0
-38.11 + 0.00

50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (7,8,2)

TP delay [ns]

TVC(cbch) (7.8,6

AT 1nuiazze+04 /25
P po 4177+ 0.0
L pl -35.44 + 0.00

3000

-1 nuiL485e+04 [ 25
Frcee po 4192+ 0.0
[ pl -36.15+ 0.00

TP delay [ns]

TVC(cbch) (7, 8 10

©1nuzbe3e+u4 [ 25
= po 4201+ 0.0
L -33.6 + 0.0

F C = 29.76 [ps/ch]

o 1
0 50 100

TP delay [ns]

TVC(cbch) (7,814

~ 1 nuiLpobe+u4 / 25
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